Federal Income Tax

I.  Class Procedure

A. Need to read both the code and the regulations (regs) assigned FIRST

B. Then read the text

C. Reread the code and regs assignment

D. Then attempt the problems

E. Then reread the code and regs again

F. Being prepared is reading the code and regs until you understand them

II. Introduction

A. In 1913, was the start of the first income tax after the adoption of the 16th amendment (the 16th amendment allowed for the adoption of the present day income tax)

B. Three primary sources for income tax law

1. Legislative (the internal revenue code – the IRC) – look here first.  There are 3 codes (1939, 1954, and 1986 with provisions).  The IRC is found in the US Code, you must always know the title of the USC, IRC is Title 26, subtitle A and we are in Chapter 1 and then it is broken into subchapters (we will primarily be using subchapters A, B, and O)

2. Administrative

3. Judicial

a) Can interpret or create law

C. Section, subsection, paragraph, subparagraph, clause and sub-clause – 1(h)(1)(A)(ii)(II) is “taxable income reduced by the adjusted net capital gain”

1. Administrative information is provided by the IRS, referred to as the service.  Charles Rezody is the Commissioner of the IRS.  The IRS puts out regulations and the regs can be interpretative or legislative (basically law, Congress says to do it this way)

a) Service also puts out rulings.  

2. The primary places of tax jurisdiction are

a) Tax court – the only non-refund tribunal

b) District court – must pay up and then go to court

c) Court of claims – must pay up and then go to court

D. Overview problem – the goal is to get the correct tax liability (similar to the goal of Civil procedure to get into court)

1. Section 1 is the tax rates, the rate of taxation.  The rate is imposed on taxable income.  Tax imposed is called the tax liability and is the taxable income (also called the BASE) times the rate.  The tax rate increases as the income increases and is a PROGRESSIVE TAX RATE, meaning the rich can afford to pay more than the poor as contrasted to a REGRESSIVE TAX which proportionately taxes the poor more than the rich, an example of which is the sales tax (Texas has the most regressive tax system in the nation).

2. The MARGINAL RATE is the rate on the last dollar taxed as contrasted to the average rate, which is the rate at which all dollars are tax.  AVERAGE tax rate is the tax liability divided by taxable income and results in the rate that every single dollar is taxed at.

3. ALL INCOME IS GOOD.  Some is better than others such as non-taxable income (tax exempt income) or deferred income.

4. The period used to calculate income is the calendar year which is Section 441, “Period for Computation of Taxable Income.”

5. Section 63 is Taxable Income Defined – per (a) it is gross income minus itemized deductions and per (b) gross income minus standard deduction and personal exemptions 

6. Section 62 is Adjusted Gross Income Defined – gross income minus the following (17) deductions also known as above the line deductions

7. Section 61 is Gross Income Defined – “all income from whatever source derived”

8. The subtitle is A 

9. Section 102(a) – Gross income does not include the value of property acquired by GIFT, BEQUEST, DEVISE, or INHERITANCE.  This is one of the “except as otherwise provided” exceptions that Congress can do.

10. Section 103(a) – except as provided in subsection (b), gross income does local not include interest on any State or local bond

11. Section 74(a) is an inclusion section, Prizes and Awards – gross income includes amounts received as prizes and awards (look for exceptions to this section 74(a) or Section 117

12. For gains to be included into income there must be a realization event and recognition per Section1001c 

E. Two general principles for tax law relative to income

1. All receipts by a taxpayer are income

2. For deductions it is exactly the opposite, the code presumes that things are not deductible unless specifically stated

F. Section 62(a)(1) – Adjusted Gross Income Defined 

1. “There shall be allowed as a deduction” is deduction language, which is different from “deductions allowed by this chapter” in Section 62(a)(1) which does not provide you with a deduction (so don’t cite it on exam for a deduction.  You have to find the deduction within the chapter

G. Section 162(a) – There shall be allowed as a deduction all the ordinary and necessary expenses paid or incurred during the taxable year in carrying on any trade or business including…

1. The pastry oven is not an expense – it is a capital expenditure and would not be an expense.  The code tries to match income and expenses and the oven has a 5 year useful life, it must be matched with income in the subsequent years

H. Section 1679(a) – Depreciation – the property must suffer from exhaustion, wear or tear be used in a trade or business or used in the production of income 

1. Depreciation is the adjusted basis (AB) (method) (1/recovery period – RP)(convention) which is $100(2 or 200%)(1/5)(1/2) = $20K per Section 167 (but calculated under Section 168)

a) Half year convention leads tax payer to make purchases in December but the code takes care of this in Section 168(d)(3)

I. Section 63(b)(1) allows you take the standard deduction and Section 63(c)(1) defines the standard deduction.  There are two types

1. The basic standard deduction

2. The additional standard deduction

J. Attending the educational seminar ($2,000) and the $200 for books for his teaching but it is not an above the line deduction because it was expenses

K. Section 67 only allows miscellaneous itemized deduction (as defined in Section 679(b) to the extent that they are greater the than 2% of AGI.

L. Section 262, Personal Living and Family Expenses, except as otherwise expressly provided in this chapter, no deduction shall be allowed for personal, living, or family expenses.  

M. Section 263 (Capital Expenditures) – Capitalization and inclusion in inventory costs of certain expenses.

N. Section 163 covers interest that is deductible and Section 163(h)(2)(D) qualified residence interest is deductible per Section 67(b)(1)

O. Property taxes are deductible per Section 164

P. Medical deductions are deductible per Section 213(a)

Q. Personal exemptions for taxpayers are under 151(a) and 151(c)(1) allows for exemptions for the children  

R. To determine if something is deductible you must first determine if it is deductible from the code, then if is above or above the line, and then look to Section 67 or 68 to determine if there are any limitations.

S. Section 24c – Child Tax Credit

T. Section 25A – Lifetime (educational) credits

III. Assignment 2 – Gross Income

A. Gross income is defined in Section 61 as all income from whatever sources derived.  “Except as otherwise provided” that begin Section 61(a) tells you there will be exclusions from gross income

B. Cesarini case on page 49 – the court of original jurisdiction is the US district court.  Taxpayers are seeking a refund for the tax they paid on cash found in a piano ($4,500).  They filed an amended return for the tax paid on the $4,500 and it was denied and the Cesarinis filed suit in district court.  They made three arguments:  it was not includable in gross income, if it is gross income it was income in 1957 and the statute limitations had run (in 1961 for a return that was to be filed in 1958), or if it is taxable in the current year, it is capital gains.  The court looked to the code, the regulation, the revenue rulings, and the case law.  The court used Ohio law to determine when the gross income was includable.

1. If instead of finding $4,500 in the piano, the $15 piano was really a Steinway worth $500,000, is there gross income?  NO, because the income has not been REALIZED OR RECOGNIZED

C. General statute of limitations is 3 years per Section 6501.  Doesn’t apply to the actual filing of the return and can be longer (if you omit more than 25% of gross income) or forever if fraud is involved.

D. Tax Court is the only non-refund tribunal, all other courts you must pay the tax first and then sue for a refund 

E. For gross income problems is to ask:

1. Is it gross income? Per Section 61, all income from whatever source derived.  We need to define what income to be able to figure out if something is gross income case.  Undeniable accession to wealth, clearly realized, and over which the taxpayers have complete dominion (MEMORIZE THIS DEFINITION OF INCOME) from the Glenshaw Glass case

2. How much is includable as gross income?

3. When is it gross income?  Not covered in this class, but for a cash basis taxpayer it is “when received”

F. Winning a watch in a raffle is gross income and it does not matter that the recipient received property and not cash for in to be considered gross income.  You can get this result by analogy for Reg. 161-2 (d)(1) and (2) “Compensation paid other than in cash” and “Property transferred to employee or independent contractor” (employer buying the $500,000 Steinway for $15 and giving it to the president of the company is income).  FMV is not defined in the code.  It is defined in Reg. 20.2031-1(b), willing buyer and willing seller and we use an OBJECTIVE measure of FMV and not a SUBJECTIVE measure (the watch I won is not worth anything to me because I already have three watches)

G. Treasure trove is considered gross income when the tax payer has undisputed control over the property

H. Problem 3 on page 65 – the employee’s salary of $40K is gross income and the stock worth $40K is also gross income.  Is buying the employee’s spouse a new car includable as gross income? Yes, per the Old Colony 
Trust case, it would be includable because it is consideration for the employee’s services in the amount of $15K.  The basic rule is the discharge by a third person of an obligation to him is equivalent to receipt by the persons taxed.  The car would be on the employee’s return and not the spouse’s return in the event that they filed separate returns and this is important because of the progressive tax rate. 

I. KNOW THE OLD COLONY AND GLENSHAW GLASS CASES, we will be using the facts and rules from these two cases over and over.

J. Illegal income is gross income per Reg 1-161-14

K. Tenant owes rent of $4,000 and pays cash of $1K and makes $3K of improvements and only expends $500 so the tenant has income of $2,500 (TRICKY)

L. Frequent flyer miles – getting miles as part of purchase price is not income (it is like a rebate on an appliance).  If the employer allows you to keep the miles and if they are assignable and have a FMV it is gross income as a fringe benefit.  If the miles are unassignable there is no FMV and not income.

1. The fair rental value of premises occupied by taxpayer without payment of rent constitutes income, which must be included in such taxpayer’s gross income. (Dean v. Commissioner).

M. Imputed Income - using their own property or services to generate income.  Traditionally this has not been considered income (such as filling out your income tax return or mowing your own lawn rather than paying for the service)

1. You are not taxed on the value of living in your own home per Helvering

2. Reg 1.61-4(a)(1) dealing with Gross Income to Farmers– no income from harvesting the crop or eating the crop.  Farmers only realize income from the “sale” of crops or livestock –this is an example of imputed income and is not gross income

3. Giving $100 of vegetables to another person for $100 of tuna is gross income to both parties.  Likewise if the doctor and lawyer “swap” services and per Revenue Ruling 79-24 for barter transactions. 

N. Rules of law relative to gross income

1. Found money is taxable as ordinary income in the year in which the taxpayer attains uncontested possession of it (Cesarinin v. US)

2. The payment by an employer of the income taxes assessed against his employee constitute additional taxable income to the employee (Old Colony Trust Co. v. Commissioner)

3. The general definition of gross income includes all amounts recovered as the result of a lawsuit that represent an increase in wealth to the recipient and not merely compensation for non-contractual losses.  Personal injury proceeds are not taxable, they are considered a return of capital (Commissioner v. Glenshaw Glass Co.).

4. Travel credits accumulated and retained by an employee in the course of his employment constitute gross income subject to taxation (Charely v. Commissioner).

5. The rental value of buildings used by their owners is not taxable income (Helvering v. Independent Life Insurance Co.)

IV. Chapter 3, The Exclusion of Gifts and Inheritances

A. Rules of law relative to the exclusion of gifts and inheritances

1. In order to be a gift under Section 102, amounts received must have been given with a “detached and disinterested generosity (the income tax meaning of gift) (Commissioner v. Duberstein)

2. Money received from the compromise of a will content is received through inheritance and is exempt form income tax (Lyeth v. Hoey)

3. Where a bequest is made by contract to satisfy an obligation, its receipt is income, taxable under Section 61 of the IRC of 1954, and not includable under Section 102 (Wolder v. Commissioner).

B. Exclusion sections of IRC– if something is excluded it is not included in gross income.  The exclusion for gifts and inheritances has been around from the inception of the tax code – 1913.  Reasons gifts being excludable  

1. It would be an administrative nightmare to police gifts as gross income.  We have a self-assessment system and people don’t include as gross income those things (gifts) that they don’t view as income 

2. Gifts are also excluded because of the recognition of the family as a unit 

C. Property as used in Section 102 (gifts) includes property and services

D. Definition of gift for income tax is different from the definition of gift for the gift tax per Chapter 12

E. Exceptions (2) to the exclusion - Gifts from employer to employee will not be excluded and income made from property received in subsection (a) will not be excludable, otherwise rich people would never have to pay taxes because they get all their income from their inheritances

F. Commissioner v. Duberstein – the unneeded, unwanted Cadillac given for appreciation of the taxpayer’s giving of contacts was gross income and 102© would not have made a difference for Duberstein 

1. Two exceptions to Section 102c employee achievement awards, Section 74, and 132(e), De minimis fringe benefit 

2. Regulation 1.102 – 1(f)(2) – TV given to employee son won’t be an exception of 102c if it is extraordinary transfers to the natural objects of an employer’s bounty will not be considered transfers to, or for the benefit of, an employee if the employee can show that the transfer was not made in recognition of the employee’s employment and must be substantially attributable to family relationship.  Facts to look at:

a) Son’s position in the company

b) Where the TV was given (at work or at home0

c) Did she pay for the TV from company funds or her personal funds

d) Even if income, it will only be for the value of the TVs given to all the other employees and the remainder will be considered a gift

3. There is case law that says pastor/congregation is not employer/employee relationship (this was prior to 102 c exception) 

4. Section 132 (e) the de minimis fringe does not apply to the TV at Christmas problem

G. For a gift you need proceeds from a DETACHED AND DISINTERESTED GENEROSITY ON THE PART OF THE TRANSFEROR per the Supreme Court in Duberstein

H. Even if the employer has detached and disinterested generosity, it is not excludable from income.

I. Bequest of personal property by will and devise is a disposition of property and inheritance is property received through intestacy

J. If will says the bequest is for long and devoted service is excluded from gross income per revenue rulings.  However, you get a different result if there was a written agreement

K. In Wolder case, lawyer to give services and client to leave stock to the attorney upon death, the lawyer said it was a non-taxable gift and the court said “no, it is a deferred payment.”

L. The decedent using the will to pay daughter for services as executor is gross income

V. Section 132 excluded certain fringe benefits 

A. No-additional cost service

B. Qualified employee discounts – defined under 132c

C. Working condition fringe

D. De minimis fringe

E. Qualified transportation fringe

F. Qualified moving expense reimbursement

VI. Chapter 4, Employee Benefits

A. In 1984, Congress created Section 132, which dealt with fringe benefits that are excludable from gross income.  In general fringe benefits are includable as gross income per Section 

B. There are 7 fringes listed in Section 132 that are excluded

C. Section 132(a) is the only section that gives or authorizes the exclusion of fringe benefits

D. The no additional cost exclusion per Section 132(a)(1) is available only if it is in the ordinary course of the line of business of the employer in which the employee is performing services

E. Section 132(j)(1) is the discriminatory exclusion and applied to Section 132(a)(1), No Additional Cost Service, and Section 132(a)(2), Qualified Employee Discount, and you must know two things

1. If the employee is highly compensated – Section 132(j)(1) only applies to highly compensated employees

2. If it is non-discriminatory (you can discriminate with non-highly compensated employees, but you can’t discriminate with highly compensated employees)

3. If Section 132(j)(1) applies, the highly compensated employee gets no exclusion of the fringe (he is not allowed to have only the excess over what is offered to all other employees included in gross income)

F. The No Additional Cost Fringe is not allowed if the company has foregone revenue from a customer in favor of the employee.  You can never have a No Additional Cost Fringe if the company has foregone revenues.  But you can have a qualified employee discount 

G. Cash rebates are covered in Section 132-2(a)(3)

H. Per Section 132(h)(1) – children, spouses, retirees, and surviving spouses are considered employees 

I. Per Section 132(h)(3) – says that parents of employees in air transportation will be considered an employee

J. Section 132(i) covers reciprocal agreements and can ONLY be used for No Additional Cost Service per Section 132(a)(1)

K. In your analysis of no additional cost service, make certain that your second step after determining that the no additional cost service is not available, that you determine if the employee will be allowed a qualified employee discount (limited to 20%)

L. Under legislative history, insurance is defined as a service and is therefore is subject to the employee discount exclusion

M. The maximum amount of employee discount available for property is the gross profit percentage 

1. Gross Profit Percentage is the aggregate sales price minus the aggregate cost divided by aggregate sales price

2. Under Section 1012 the adjusted basis of the property is $2,000 (sales price before the discount) to keep it from being a deferral of income rather than an exclusion 

N. Over in the code means subtraction, and “is of” means division 

O. Business convention is excluded under Section 132(a)(3)

P. Is weekly happy hour a de minimis fringe – turns on whether it is occasional such that accounting for it would be administratively burdensome and the company can discriminate because Section 132(j)(1)

Q. Case of scotch as a holiday gift is if it is low value as de minimis

R. Section 132(f) defines the qualified transportation fringe and is limited to $175 per month and is not subject to discrimination rules

S. Section 132(j)(4) is the seventh fringe and is hidden and deals with athletic facilities

T. Exclusions for Meals and Lodging – Section 119 (still covering what is included or excluded from gross income)

1. Herbert G. Hatt case – can exclude meals and lodging from gross income – the value of lodging furnished to an employee may be excluded from gross income if the lodging is on the business premises of the employer, the employee is required to accept such lodging as a conditions of his employment, and the lodging is furnished for the convenience of the employer.s 

a) The meals must be for the CONVENIENCE OF THE EMPLOYER (not defined in Section 119, but is defined in Reg. 119-1, and need a substantial non-compensatory business reason such as

(1) Must be available for an emergency call during the meal period

(2) The employee is restricted to a short meal period (but not for the purpose of allowing the employee to leave early.

(3) If the employee could not secure proper meals within a reasonable time period

(4) A meal provided to a restaurant employee or other food service employee for each meal period in which the employee works

(5) Will be considered for a business reason if all employees are provided meals, but yet only substantially all of the employees have a substantial non-compensatory business reason

(6) If the employer would have furnished a meal during working hours for a substantial non-compensatory reason, a meal provided immediately after the employee’s working hours is excludable if the employee’s duties prevented him from obtaining a meal during his working hours.

(7) Any meals provided to promote the morale or goodwill of the employee, or to attract prospective employees.

(8) The term “business premises of the employer’ generally means the place of employment of the employee. 

b) For meals to be excluded from gross income they must be on the BUSINESS PREMISES – defined in 1.119(a)(3)(c) defines business premises

c) The LODGING is excludable if:

(1) It is for the convenience of the employer

(2) The lodging is located on the business premises

(3) Residing there must be a condition of the employment (convenience and condition are very similar) per Section 119(a)(2)

(4) A clause in an employment contract is not determinative of whether the lodging is excludable per Section 119(b)(1)

(5) Purchasing groceries for employee could qualify as employer-furnished meals

(6) Must be at a location where the employer conducts his business or the employee performs his work.

(a) It is not determinative that the employer owns the property but you must look to see if the property is in close proximity to the business

(b) Also cannot transfer the property in fee simple, Section 119 (the whole value is includable as income per Section 102(c)) per Section 83, Property Transferred in Connection of the Performance of Services  

d) The rationale for excluding these types of meals and lodging is that there is a restriction put on the meals and lodging by the employer.  If the taxpayer has excluded lodging, then the meals provided by the employer will also be excluded per Reg. 1-119(a)(2)(i) and by definition the meals will be excluded 

U. Rule of law relative to Employee Benefits.

1. Exclusions for Meals and Lodging.  The value of lodging furnished to an employee may be excluded from gross income if the lodging is on the business premises of the employer, the employee is required to accept such lodging as a condition of his employment, and the lodging is furnished for the convenience of the employer (Herbert G. Hatt case).

VII. Chapter 5, Awards

A. Section 74 under Chapter 2 (items included in gross income) deals with the inclusion of PRIZES AND AWARDS in gross income.  There are 4 exceptions to this Section

1. Except as otherwise provided in this section

2. Section 117

3. Exception for certain employee achievement award

4. Section 74(b)(3) – exception for awards transferred to charities

5. Section 74(c) (4) for de minimis fringes (not subject to Section 132(1) – certain employee achievement awards

6. Revenue Ruling 58-89 – acceptance speech is not future services

7. The award or prize must be given for religious, charitable, scientific, educational, artistic, literary, or civic achievement

8. A professional athlete must include prizes and awards in income and it is uncertain if it applies to amateur athletes.  The gold medal to Olympic winners is not taxed

9. Cash is not normally considered a de minimis fringe

10. Employee achievement award must be TANGIBLE PERSONAL PROPERTY

11. The gold watch service award is excluded under Section 74c and you get the definition of an employee service award from Section 274(j)(2)

12. Retirement gift is covered under de minimis fringe benefit

B. An all expenses paid business trip does not constitute taxable “disguised remuneration” when the recipient is required to go as an essential part of his employment and is expected to devote substantially all of his time on the trip to the performance of duties on behalf of the employer.

C. Scholarships and Fellowships per Section 117, Qualified Scholarships (an exclusion section).  Applying the general rule of Section 61, this would be income from whatever the source derived but there is a possibility that there could be an exclusion from income per Section 117.   

1. Can only exclude amounts paid for tuition and books BUT amounts for ROOM and BOARD are not excluded per Section 117(b)(2)(A&B) and Reg. 1-117-6

2. If the work is for the scholarship then it will be included as income per Section 117(c); however, you could say that the student is working for the room and board.  Or could allocate his wages to both the tuition and the room and board and then it won’t be all included

3. Requirement to work will still be includable as gross income even if ALL students are required

4. Is playing football considered services such that a scholarship would be includable income?  Only if the athlete is required to play.  Normally, it is excludable and the university does not require the student to play to get the scholarship.  Usually the universities require these to be renewed each year.

5. Per Secti0n 117(d)(2)(B) says a qualified tuition reduction applies to spouse, dependent child, or parent per Section 132(h).  Need to know:

a) If employee is highly compensation

b) If it is a nondiscriminatory

c) If the spouse has to perform services for the scholarship

6. Will fail under Section 117(c) if you can’t determine if the employer providing you a stipend for past, present, or future services

7. If you win an essay contest and the provisions of the award say it can only be used for tuition and books, it may be considered as excludable from income

D. Rule of Law Relative to Awards.

E. Prizes.  An all-expenses paid business trip does not constitute taxable “disguised remuneration” when the recipient is required to go as an essential part of his employment and its expected to devote substantially all of his time to performance of duties on behalf of his employer (Allen J. McDonnell).

VIII. Chapter 6, Gain from Dealings in Property – Subchapter O, Gains or Losses on the Disposition of Property

A. Basis and adjusted basis are synonymous.  An important concept for tax

B. Know the difference between realization and recognition

C. Section 1001(a) tells you how to calculate/compute GAIN or LOSS and you include it in gross income per Section 61(a)(3).  The gain must be from the sale or other disposition of property.  Includes the conversion of property in to cash and exchanges of property per Reg. 1.1001-1

D. Excess of is the amount remaining.  To calculate gain you must first know the amount realized (AR) (defined in Section 1001(b)) and you must know the adjusted basis.  AR is the sum of any money received plus the FMV of the value of property (other than money) received. Section 1011(AB) tells you to go to Section 1012, Basis of Property - cost +/- Section 1016(1) is for increases in basis and Section 1016(2) is for decreases in basis

E. Adjusted basis (AB) minus amount realized (AR) equals loss 

F. Section 1011 tells you how to calculate basis for determining gain per Section 1001(a)

G. If you calculate a gain under Section 1001(a) do you automatically include it in gross income?  NO, the general rule for any gain that is realized is that you have to recognize.  Realization is required in order to have income, recognition is not required to have income.  Section 351(a) and Section 1031 are non-recognition in this class (we don’t cover any non-recognition sections in this class)

H. Adjusted basis is the FMV of the property you received and it is assumed that the value of the two properties (given and received) are equal (especially if you can’t determine the FMV of the property received)

I. YOU REALIZE UNDER SECTION 1001(a) AND RECOGNIZE UNDER SECTION 1001(c)

J. Must know the difference in the following terms

1. Gain realized

2. Gain recognized

3. Loss realized

4. Loss recognized

K. Options to purchase are a part of the cost basis of the land so that the money spent on the option won’t be taxed twice (once as salary paid for the option, assuming the option was purchased with taxable income, and then once again as gain).  As a general rule, the government does not tax money twice.

L. Gains and losses from dealings in property and Section 61(a)(3)

M. Section 1001(a) says gain is the amount realized over the adjusted basis (defined in Section 1011 which sends you to Section 1012 and other Sections and adjustments as provided in Section 1016) 

N. Section 1001(c) is where you RECOGNIZE the gain.

O. In Problem 1(d) on page 121 the Amount Realized is $18K per Section 1001(b) and the Adjusted Basis is $10k per Section 1012 and $2K Section 1016(a)(1) for a gain of $6K and will be included in gross income once recognized under Section 1001(c). Permanent improvements to the land are not deductible per Section 263, Capital Expenditures.

P. Congress created Section 109 to stop inequities when someone (lessee) makes improvements to property.  Section 109 does not apply when improvements are made in lieu of the rent.  If an amount is excluded in Section 109, does that mean that he will never have to include those improvement into gross income?  NO, and it is taken care of in Section 1019, you do not get to increase the basis in the property for improvements made by the lessor.  If you exclude improvements per Section 109 you immediately go to Section 1019.

Q. In problem 5(a) if the basis in the rental property is $10k and he recognized the $3K as rental income and therefore he can increase his basis per Section 1016(a)(1) for an adjusted basis $13K.

R. Sections 109 and 1019 are timing sections, it is dealing with WHEN you include it in gross income and not IF you will include it in gross income

S. Problem 1(e) on page 121 is the amount received is $16K per Section 1001(b) and the adjusted basis is $10K per Section 1012 and $8K in gain recognized under Section 1001(c) 

T. Problem 1(f) on page 121 involving employee receiving land from employer as a bonus and could be a qualified employee discount under Section 132(a)(4) but it isn’t excludable as income per Section 132(c)(4) that says real property cannot be a fringe benefit.  Per Reg 1.161(2)(d)(2), the employee is taxed on land as income and the basis of the land is $10K and the fact that the employee paid $3K of tax on that income is irrelevant.

U. The donor pays gift tax.

V. Problem 1(g) on page 121.  The Amount Realized is $16K and the basis of the painting is $10K, the FMV, but the owner only paid $9K and he got $1K off the price per a qualified employee discount in Section 132(a)(2).  You do not deduct qualified employee discounts from the basis because if you did it would change the Section 132 exclusion to a deferral of income.  Must assume that the painting is not investment property; otherwise, Section 132(c)(4) kicks in.

W. Property acquired by gift (detached and disinterested generosity) is not includable as income per Section 102 and the donee must go to Section 1015 to determine the basis of the property.  Section 1015(a) is a TRANSFERRED BASIS RULE and the donee steps into the shoes of the donor.  If not the donor would give away the property and have the donee sale it and give the donor the proceeds and avoid all tax (by pass the system).  Exception to the TRANSFERRED BASIS RULE per Section 1015:

1. Donor’s Adjusted Basis > FMV at the time of transfer and if

2. You are determining loss, THEN

3. Basis is FMV at the time of transfer

4. You can transfer gains but you can’t transfer losses

X. Problem 1 page 128

1. Donor’s basis is $20K per Section 1012

2. Donee’s adjusted basis is $20K  per Section 1015 (before the “except clause”)

3. In #1 the amount realized is $35K and there is a $15K gain

4. In #2 the amount realized is $15K and there is a $5K loss

5. In #3 the amount realized is $25K and there is a $5K gain

6. Must look at Section 165 to see if any of this is deductible

Y. The code abhors negatives

Z. Reg 1.161(2)(d)(2) – If the property is transferred to the employee for less than the FMV.  The difference between the amount paid for the property and the amount if its FMV at the time of the transfer is compensation and shall be included in the gross income of the employee.  In computing the gain or loss from the subsequent sale of such property, its basis shall be the amount paid for the property increased by the amount of such difference included as gross income (for property transferred to employee).  This is called tax cost basis.

AA. Inclusion and exclusions from income involve funds that flow to the taxpayer and deductions involve funds that flow from the taxpayer (things he paid).

AB. Know the case names for all the assignment of income because it is all case driven – EXAM PREP (LUCAS V. EARL, OLD COLONY, GLENSHAW CLASS)    

AC. General Rule in Section 1015 is that you step into shoes of the donor with a transferred basis EXCEPT 

1. The AB > FMV at the time of transfer AND

2. There MUST be a loss, THEN (i.e., loss property is being transferred)

3. Basis is the FMV at the time of transfer

AD. Problem 1(b)(1) on page 128 the basis is $30K when calculating the gain and $20K in 1(b)(2 &3) where the property is sold at a loss.

AE. Per Reg. 1.1015–1(a)(2), if the amount realized is between the AB and FMV there will be no gain or loss and the exception clause does not apply.  You can transfer your gains, you cannot transfer your losses.

AF. If the transfer of property is part gift/part sales the gift will be excluded from gross income per Section 102(a).

AG. Amount received is determined by Section 1001(b)

AH. Problem 2(a) the FMV is $180 and father transfers it to daughter for $120K and the remaining $60K is a gift so it is part gift/part sale and covered by Sections 1012 and 1015 and Reg 1.1015-4.  The adjusted basis is the greater of 

1. The amount paid or

2. Transferor’s adjusted basis

AI. With basis adjusted for any gift tax paid per Section 1015(d)(1)(a), which says the amount of gift tax paid would increase the donee’s basis.  But must look at when the gift was made and if the gift was made after 1976 use Section 1015(d)(6), which is a ratio that ratios the amount of gift tax to be applied to the basis.  Trying to determine the increase in basis

AJ. Section 1041 is no gain or loss shall be recognized for transfers between spouses and is an exception to Section 1001(c) using the language “except as otherwise provided.”

AK. Problem 1 on page 3, the husband realized $3K of income under Section 1001(a) but he recognizes $0 under Section 1001(c) except at otherwise provided in Section 1041(a).  Section 1041 is a straight transferred basis rule just like Section 1015.  This is tax neutral transaction.

AL. There is no loss or gain recognized until the property is sold outside the marriage per Section 1041(a) (it treats the family as one unit and also treats community property states and separate property states the same).

AM. Section 1014, Basis of Property Acquired by a Decedent – general rule under Section 1014 is that if you get property from a decedent the basis will be the FMV at the date of death.  This is a STEP UP IN BASIS RULE.  This is a major estate planning rule because it avoids tax on appreciation.  This rule will be eliminated in 2010 when the estate tax goes away.  Husband dies and his half of the community property with a basis of $5 and a FMV of $50K at the time of death.  The wife will get the husband’s property with a basis of $50K and the basis of her half will be her original basis of $5K for a total basis of $55K in separate property state.  In community property state per Section 1014(b)(6) her half will also get a stepped basis of $50K and her total basis will be $100K as opposed to the $55K in a separate property state.  Inheritances are not included in gross income per Section 102(c)

AN. If you give appreciated property and the decedent dies within 1 year, you will not get the stepped up basis per Section 1014(e)

AO. The amount realized, the International Freighting Corporation, Inc. v. Commissioner.  This case says that if it is impossible to determine the basis, the basis will be considered to be the FMV of whatever the property is being transferred in exchange for.  Example is if I have stock with $20K basis and it has appreciated to $50K and I give it to someone in order to obtain their release in a personal injury, the value and basis of the release it $50K and I have a $30K gain upon the transfer of the stock.

AP. Crane v. Commissioner on page 137 (Glenshaw Glass, Duberstein, Crane, and Tufts are all cases you must know for EXAM).  Wife inherited an apartment building and per Section 1014 she gets a stepped up basis which in the FMV of the property at the date of death.  The value of the property at the date of death was $262K.  In a recourse loan the debtor has a personal liability meaning the lender can go against the debtor’s other assets.  The creditor has “other recourse.”  In non-recourse loans no other assets of the debtor are subject to the debt except the collateral.  Ms. Crane said her basis in the property was $0, her equity in the property.  Ms. Crane also took a depreciation deduction which is inconsistent with Ms. Crane’s position of having a zero basis in the property?  The Supreme Court had to decide the following issues;

1. What is the basis in the property?  $2,500 cash and $255,000 the amount of the non-recourse loan assumed.  Interest wasn’t used because it is deductible

2. What is the amount realized?

AQ. General Rule is that recourse or non-recourse loans (borrowed funds) are included into the adjusted basis if it is used to purchase the property?

AR. Section 1011 allows you to adjust basis per Section 1016.

AS. Crane’s argument was that because it was a non-recourse loan the assumption of the loan should not be included in amount realized.  She concedes that if was a recourse loan it would be included in the amount realized per the Old Colony Trust case.

AT. Treat loans the same on both side of the equation.  Loans are included to calculate adjusted basis if used to acquire the property and also included in the amount realized if the loan is assumed.

AU. Problem 1a on page 153.  FMV of the property is $100K and it was purchased for cash of $20K and non-recourse debt of $80K, so the adjusted basis is $100K and includes the non-recourse loan per the Crane case.  It is irrelevant whether the loan is recourse or non-recourse, it is still included in the adjusted basis.

AV. Problem 1b - Borrowing additional $$ with the land as security is not gross income (no accession of wealth) and the proceeds of the loan were not used to improve the property.

AW.  Problem 1c – not deductible per Section 263 – no deduction for permanent improvements, but can adjust basis in property per Section 1016(a)(1)(B)

AX. Problem 1d the land has a $100K basis and the stock has a basis of $100K per Section 1012

AY. Problem 1e – the amount realized is $120K cash and $180K of mortgages assumed (case authority is the Crane case) for a total AR of $300K.  The adjusted basis is $100K for an amount realized under Section 1001(a) and recognized under Section 1001(c).  The case authority for including a recourse loan in the adjusted basis is the Old Colony case.  Per Reg. 1001-2(a)(1) is the regulation authority for the Crane case, that says liabilities discharged are included in the amount realized.

AZ. Problem 1f – the FMV of the gift is $300K but you can treat son as having contributed $180K (the loan he assumed) and the amount of the gift is $120K and it is part gift/part sale.  The amount realized is $180K (the non-recourse loan assumed) less the adjusted basis of $100K results in the donor have a gain realized of $80K.  The son’s adjustment is Reg 1.1015-4(a) which says the adjusted basis the greater of the amount paid by the transferee or the transferor’s basis at the time of transfer

BA. Problem 1g – if given to spouse, no gain or loss is recognized per Section 1041 and the spouse’s basis is found under per Section 1041(b)(2) 

BB. Transferring to a bank is treated the same as selling or transferring to any other party per the Parker case.

BC. Problem 1i - the Crane case did not address what to do if the value of the property had declined in value to less than the mortgage.  The court punted but it was dealt with in the Tufts.  The FMV of the property does not matter for non-recourse liability (it does matter for recourse liability under discharge of indebtedness).

BD. Problem 2 on page 154.  Reg. 1.61-6 says you must ALLOCATE THE BASIS.  Must allocate the basis for parcels of land or for blocks of stock.

BE. Problem 3a on pages 153-154.  Relative’s adjusted basis is $20K and the FMV is $30K.  Relative gave the property to Gainer and it is not includable (i.e. excludable) as gross income per Section 102(a) and must then determine Gainer’s adjusted basis and the except clause in Section 1015(a) does not come into play (the adjusted basis is not higher than the FMV) so Section 1015(a) says the adjusted basis is $20K but must adjust this for gift taxes associated with net appreciation per Section 1015(d), which increase the adjusted basis by $2K for gain realized of $10K.

BF. Problem 3c on page 154.  Gainer gets transferred basis per Section 1015 and the “except clause” does not apply because loss property is not being transferred.  You still must adjusted the basis per Section 1015(d)(6) for the gift tax associated with the net appreciation which is defined in Section 1015(d)(B) which is $1,000 (gift tax paid times net appreciation divided by the amount of the gift or $3,000 X 10,000/30,000).  Gainer’s amount realized is the $20,000 and the $12,000 mortgage assumed for a total of  $32,000 less the $21,000 adjusted basis for an amount realized and recognized of $11,000 per Sections 1001(a) and 1001(c).  However, because Gainer assumed the $12,000 mortgage it could be said that the amount of the gift was only $18,000 and $1,667 would be added to the adjusted basis for the amount of the gift tax.  The book doesn’t agree with this.  KNOW BOTH WAYS.

BG. Problem 3d, Hypo, Relative is giving to Gainer property with an adjusted basis o f $4,000 and Gainer is assuming a mortgage of $12,000 and is paying the gift tax of $6,000.  Relative would have an amount realized of $6K and an adjusted basis of $4K for an amount realized and recognized.  Gainer’s adjusted basis is $11.2.  MUST REALIZE THAT RELATIVE HAS AN AR OF THE GIFT TAX PAID BY DONEE AND APPLY FOOTNOTE #2 ON PAGE 152. 

BH. Reg 1.1001-1e deals with part sale/part gift says no loss is observed on such transfers such that if Relative’s AR is $6K and the AB is $10K, no loss would be allowed per this regulation.

BI. PRACTICE MID-TERM EXAM.  First thing to do is read the call of the question at the end of the exam, to know what is being tested and focus your attention on what is being asked.  Then read the entire question 2, 3, or 4 times.  Outline the answer to focus on your answer and allocate you time and outline per IRAC.  More points for issue and analysis, few if no points for rule (use it in your analysis) and a very few points for conclusion.  Break out the assets individually, the vase and the bracelet.  Deal with the vase when you purchase it and also when you realize the increase in value.  Use Glenshaw Glass rule of accession of wealth, complete dominion, and clearly realized.  Same doesn’t have clearly realized element because there is no sale or other disposition (offer from Paula does not give rise to realization). “Sam purchased a vase for $10 that he later found to be valued at $1,000.  Upon learning of the vase’s value there is an accession of wealth, he has complete dominion over the vase, but the income is not clearly realizable because there is no sale or disposition of the vase.  Since the clearly realizable element has not been met, Sam has no includable gross income from the increase in value from the vase.”   The bracelet is just like the Caesarini and would be included in gross income and gave minor points for including the Regs on gross income and there would be GI of $1,000 in the year he found the bracelet and must also determine Sam’s adjusted basis in the bracelet is $1,000; otherwise, there would be double taxation.  This is called tax cost basis.  Rev. Ruling 79-24 pertains to the Sam/Benny transaction which seems to be a barter transaction.  May not be considered gross income if it can be considered a gift, because it was between friends, no agreement, and it was for past services (as it pertains to Benny giving the use of the Rolls).  Same analysis for Sam.  NEED TO KNOW THAT IT WAS POSSIBLY A GIFT.  Waiver is income to Sam or the law firm?  Not a gift.  Loan return, no income from return of investment.

BJ. Analysis is fact to element and a conclusion is elements to fact.

BK. Rules of Law Relative to Gain from Dealings in Property

1. Cost as Basis:  where a taxable exchange of property occurs, gain or loss should be recognized in establishing the basis for the property on the date of the transfer (Philadelphia Park Amusement v. US).

2. Property acquired by gift:  the donee receives the basis of the donor in gift property (Taft v. Bowers).

3. Property acquired by gift:  no gift occurs for the purpose of computing the donee’s basis in property received in exchange for a promise to marry and the release of marital rights (Farid-Es-Sultaneh v. Commissioner).

4. The amount realized:  an employer who pays bonuses in stock realizes a taxable gain if the market value of the stock at the time the bonus is paid is greater than the cost of the stock to the employer (International Freighting Corporation, Inc. v. Commissioner)

5. The amount realized:  in computing basis, it is the fair market value of the property rather than the purchaser’s equity, which determines basis (Crane v. Commissioner).

6. The amount realized:  the assumption of a non-recourse mortgage constitutes a taxable gain to the mortgagor even if the mortgage exceeds the fair market value of the property (Commissioner v. Tufts

IX. Chapter 7 Life Insurance Proceeds and Annuities.  Life insurance proceeds are excludable form gross income per § 101(a).  The rationale is that the beneficiary has suffered enough and also it is inherited with a stepped up basis (policy reasons).  The amount of life insurance proceeds are excluded from gross income if the policy was transferred for consideration is the amount paid for the policy and any subsequent amount or premiums per §101(A)(2).  Section 101(a)(2)(A) is provided as a transferred basis just like §1015(a) and 1041(b)(2).

A. If you have interest on a life insurance policy, it is includable in GI per §101(c)

B. Section 101(d)(1) provides for a pro-ration that would be includable a gross income in the beneficiary elected to receive payments over a period of time.  The amount to be excluded is the lump sum payment divided by the life expectancy.

C. Sections 101(c) and 101(d) are mutually exclusive.

D. Reg. 1.101-3(a) states that interest occurs for Section 101(c) if there is no diminution of the principal amount and the interest payments will be includable as gross income.

E. Problems on page 158

1. Problem 1(a).  The $100,000 paid to the beneficiary is excludable per § 101(a) because it was received pursuant to a life insurance contract and by reason of the death of the insured.

2. Problem 1(b).  The $10K of interest on the life insurance policy is includable as gross income per Section 101(c), which is an inclusion subsection.

3. Problem 1(c).  Section 101(d)(1) is the applicable section and the amount of each payment to be excluded from gross income is $100,000 (lump sum amount) divided by the life expectancy of 25 years or $4,000 and $8,000 of the $12,000 payment is includable as gross income.

4. Problem 1(d).  The exclusion continues per Reg. 1.1014(c) even if the beneficiary lives beyond his/her life expectancy (even after the lump sum payment has been recouped, annuities are handled differently).

5. Problem 2(a).  Pro gains $980K ($1,000, 000 of proceeds less the $20,000 paid for the policy) and it will be excludable for gross income per § 101(a).

6. Problem 2(b).  Section 101(a)(2) applies when you have a transfer of life insurance for valuable consideration and this is  the case here.  Pro’s exclusion would be limited to the $20K it paid Jock for the life insurance policy and $980K will be included in Pro’s gross income.  If Jock is a shareholder, §101(a)(2)(B) applies even if he owns only one share of stock and the insurance proceeds would be excludable.

7. Problem 3(a).  Insured realizes and recognizes $20K of gain per §§ 1001(a) and 1001(c) upon the sale of the life insurance policy she paid $40K for to child for $60K and upon the insured’s death, the child will have $60K excludable from gross income (her basis or what she paid parent for the policy) and $40K would be includable per §101(a)(2).

8. Problem 3(b).  If insured transferred the policy with an adjusted basis of $40 to spouse for $60K, there is $20K realized but not recognized per §§ 1001(a) and 1001(c).  Spouse will not have any includable gross income upon insured’s death per §101(a)(2)(A), which kicks you back to Section 101(a).

9. Problem 3(b).  Section 101(a)(1) does not apply because insured is not dead.  However, per §101g(1) you can treat these amounts as an amount paid by reason of the death of the insured.  Section 101(g)(2)(A) says payment by a Viatical Settlement Provider is excludable to the insured.  Don’t treat the pay our to the Viatical Settlement Provider as gains from the sale of Property under Section 1001.  MUST calculate amount includable/excludable per §101(a)(2) – IMPORTANT.

F. Annuities.  If  you purchase a contract from life insurance where you give them a certain amount and they agree to give you equal periodic payments for some time.  Section 72(a) covers annuities and it is an inclusion section.  Section 72(b)(1) is an exclusion ratio that says portions can be excluded and its purpose is to calculate the exclusion.  The amount excluded is equal to the Investment in the contract per §72(c)(1) divided by the expected return per §72(c)(3) multiplied by the amount of payment received.

G. Problems on page 163.

1. Problem 1(a).  The amount of payment received is $3K and the amount of investment is $48K and the expected return is $72K (24 year life expectancy x $3K per year), so 3,000(48,000/72,000) = $2,000 that is excludable and $1,000 that is includable.

2. Problem 1(b).  The entire annuity payment is includable in year 25 (after the investment is recovered) per §72(b), UNLIKE the treatment of insurance contracts

3. Problem 1(c).  Section 72(b)(3) allows for deductions where annuity payments cease before the entire investment is recovered.  Section 72(b)(3)(A) is authority to take investment (“shall be allowed as a deduction”).  $48,000 minus (9 years remaining to be paid out multiplied by $2,000 excludable portion) = $30,000 deductible per §72(b)(3)(A).

H. Comparing life insurance contracts to annuities

1. Section 101 doesn’t allow you to recapture your unrecovered investment if the beneficiary dies early but you can keep the exclusion ratio if you life beyond the life expectancy.

2. Section 72 allows you to recapture unrecovered investment if the beneficiary dies early but you lose the exclusion if you live beyond the life expectancy.        

X. Chapter 8 Discharge of Indebtedness

A. US v. Kirby Lumber – the Supreme Court said the Kirby lumber’s selling their stock high and buying it back low ($140K lower) is treated as income.

B. Problem 1 on page 179

1. Problem 1(a) on pages 179-180.  Poor has income of $3,000K income due to the discharge of indebtedness. Assume in all these problems that Poor is not insolvent or going through bankruptcy.  It is includable per Section 61(a)(12)

2. Problem 1(b) – how many transactions do we have to analyze.  Two the payment of the loan and the disposition of the painting.  Poor has $2,000 ($10K loan less $8K value of the painting) of Kirby lumber income or discharge of indebtedness.  Also have to look at the sale or disposition of property, the painting.  There is only an $8K Amount Realized for the painting, its FMV, per the International Freighting case and it has an AB of $8K for $0 realized and recognized.

3. Problem 1(c) – the discharge of indebtedness is still $2K ($10,000 loan less $8K painting) is income per Section 61(a)(12) and the painting has an AR of $8K less $5K AB is a $3K gain from the sale or disposition of property.  The $2K may be excluded under Section 108 and is ordinary income and the $3K gain could be capital gain.  It is a CHARACTERIZATION QUESTION. Example 8 in Regs applies, 1.1001-2(c).

4. Problem 1(d). Reg. 1.61-12 applies.  Can the $10k in services done to pay loan be excluded per Section 108?  NO.  Also Poor will have to pay FICA and FUTA on the $10K.

5. Problem 1(e) – Income from services of $8K and discharge of indebtedness (DOI) of $2,000 for a total includable of $10K.

6. Problem 1(f) – Use Old Colony trust for this (the discharge of an obligation by a third party is income)

C. Problem 2 on pages 179-180.

1. Problem 2(a).  The AB of the property is $100K ($20K cash and $80K mortgage).  Loan proceeds do not result in an accession of wealth because there is a corresponding obligation to repay the loan.  Reg. 1.1001-2(a)(2).  The FMV of the property is $170K and the amount of debt is $180K (recourse loan) and the adjusted basis is $100K and the $10K difference is DOI.  Per Reg. 1.1001-2(a)(2) the amount realized would have been $180 but you can’t include the DOI of $10K so the AR is $170 and the AB is $100K and the gain realized is $70K.  The rationale is that on a recourse loan the creditor can go after the debtor; whereas, in a nonrecourse loan the transaction is complete (Tufts).  Also the $10K of DOI may be excludable per Section 108.

2. To get into the exclusion section of 108 you must have income from the discharge of indebtedness.  Can only get the exclusion if Section (a)(1)(A-D, bankruptcy, insolvency) and if you don’t fit any of these categories you have GI per Section 61(a)(12).  Section 108(a)(1)(A-d) says how much is excluded from GI.  Then take the exclusion to reduce tax attributes (things that affect your taxes favorably).  Section 108(b)(2) tells you what tax attributes to reduce and in what order.  If you adjust the basis in the property per Section 108(b)(2)(E) per Section 1017 and Section 1017(b)(2), which applies to Section 108(a)(1)(A&B), which is Title 11 bankruptcy and insolvency.  It says  you reduce the AB by the difference between the AB (after discharge) less the liabilities discharged (AB<AB after discharge minus liabilities after discharge).  You can elect to reduce depreciable bases per Section 108(b)(5) which sends you to Section 1017 and the Section 1017(b)(2) limitation does not apply.

D. Problem 3 on pages 179-180

1. Problem 3(a) – since the taxpayer is solvent you can’t get into Section 108 and therefore the discharge of indebtedness is includible in gross income per Section 62(a)(12)

2. Problem 3(c) – the Businessman can exclude the $40K discharge of indebtedness because his insolvency is $125K (the extent to which liabilities exceed assets).  The involvency exclusion is limited to the amount of insolvency.  Under Section 108(b)(1) it must be excludible under Section 108(a)(1)(A-C).  The tax attributes and the order in which you reduce in found in Section 108(b)(2).  Must adjust the bases of the ambulances in Section 1017.  We have an amount excluded under Seciotn 108(a) so Section 1017(a)(1) applies and Section 1017(a)(2) also applies because we are under Section 108(b)(5).  Section 108(b)(5) is the tax attribute that requires taxpayer to adjust the bases.  Section 1017(b)(2) limits the adjustment to bases of the ambulances to $0 because the bases of the ambulances do not exceed the amount of liabilities immediately after discharge which is $185K ($225K liabilities before less $40K DOI for $185K liabilities after disharge.

3. Problem 3(d) – Businessman has a $30K NOL and must reduce that tax attribute per Section 108(b)(2)(A).  Have $10K of DOI remaining after reducing the tax attribute, so then apply Section 108(b)(2)(E) to reduce the bases of the ambulances, but as in Problem 3(d) there will be $0 adjustment to basis because of the limitation of Section 1017(b)(2).  An alternative answer is that the taxpayer can elect to first reduce the bases of the ambulances first per Section 108(b)(5).  If Businessman so elects to adjust the basis, the NOL will remain $30K.

a) With no Section 108(b)(5) there is not NOL and $100K adjusted basis in the ambulance (the remaining $10K of exclusion is just a benefit to Businessman and does not carryover, also does not go to gross income per Section 61(a)(12).

b) If you elect Section 108(b)(5) there is a $30K NOL and there is a $40K reduction in basis per the flush language of Section 1017(b) and you do the reduction per Section 1017, so that the adjusted bases in the ambulances is $60K

c) Reducing the basis of property could result in more gain if you later sell the property and will also reduce your depreciation deduction.

d) The NOL and other tax attributes are helpful immediately and the depreciation is over time so you would elect to adjust basis if possible for “time value of money” reasons.

4. Problem 3(e) – Liabilities before the discharge are $125 and liabilities after are $85K.  Section 108(d)(3) tells you if someone is insovlvent (calculated by liabilities minus assets) and in this case Businessman is insolvent by $25K and it will be excluded per Section 108(a)(3) and $15K will be included into gross income per Section 61(a)(12).  Then go to Section 108(b)(1) which takes you to Section 108(b)(2)(E) which takes you to Section 1017(a) and Sections 1017(a)(1 and 2) apply and the Section 1017(b) limitation because the taxpayer is insolvent and it is $100K AB of the ambulances less the liabilities after discharge.  So the bases of the ambulances is reduced by $15K to $85K.

5. If there are none of the first 4 attributes put a statement in the EXAM that the 108(b)(5) would not be taken because it would not be advantageous to the taxpayer.

6. Understand how the flow chart is derived.

7. Will NEVER have DOI on a non-recourse loan

E. Rules of Law Relative to Discharge of Indebtedness

1. Discharge of Indebtedness.  The retirement of debt by a corporation for less than face value represents a realized increase in net worth to t he corporation and is therefore a taxable gain (US v. Kirby Lumber Co.)

2. Discharge of Indebtedness.  If a taxpayer, in good faith, disputes the amount of a debt, a subsequent settlement of the dispute will be treated as the amount of debt cognizable for tax purposes (Zarin v. Commissioner).

XI. Chapter 9 – Damages and Related Receipts 

A. Must figure out the nature and characterization of the recovery and whether it is business or personal.  You exclude under Section 104 for personal injuries (usually).

B. Recovery of principal of a loan would not be includible because it is simply a return of capital.

C. Problem 1 on page 184

1. Problem 1(a) – recovery of $8,000 for the loan is not includible in gross income because it is a return of capital and it is not an accession of wealth and the interest is includible for Section 61(a)(4).

2. Problem 1(b) –still need to know the characterization of the gain to be covered in Chapter 1.  The authority is International Freighting.

3. Problem 1(c)

4. Problem 1(d)(1) Goodwill is the FMV of the business less the assets.  It is the intangible asset and it is indivisible and only has a basis when purchased.  If you form the company your goodwill will be $0, goodwill is created only if a company is purchased.  The basis in the goodwill after the recovery is $0.  Problem 3(d)(2), the GW is $4,000 and the recovery is $4,000 and the AB of the GW is $0..  Problem 3(d)(3).  The GW is $4K and the recovery is $3K so the adjusted basis after the recovery is $1K.  It is important in litigation to have it characterized as GW in your prayer or pleading rather than as a recovery of lost profits.

D. Section 104 is an income section, Compensation for injuries or sickness.  The rationale is that personal injuries are a return of capital (your body) and you have already suffered enough so it should not be included in GI.  This is only for physical injury or physical sickness.  Emotional distress is not considered a physical injury or sickness.  The first parenthetical in Section 104 says punitive damages are not excludable, only compensatory.

E. Problems on page 191-192

1. Problem 1(a) the $100K is excludable because it arises from a personal injury and is excludable from GI

2. Problem 1(b) – even if part of the settlement is for lost wages it will not be includable as GI because it arises from the personal injuries

3. Problem 1(c) – punitive damages are included in gross income per Section 104(a)(2)

F. Section 106(a) general rule is that contributions by employer to accident and health plans are excludable from GI.  However, when the benefits are received under Section 105(a) are includable in GI except as limited by Section 105(b) which says that payments from the employer that reimburses taxpayer for medical expenses are not includable in GI

G. Relevant rule of law relative to Damages and Related Receipts

1. Damages in General.  A settlement award is properly includable in the computations of gross income where the damages represent compensation for lost profits (Raytheon Production Corp. v. Commissioner).

XII. Chapter 10, Separation and Divorce

A. A deduction must be specifically given in a deduction section.  Under section 71, the requirements for alimony in 71(b)(1), 71(c), 71(e) and recapture under Section 71(f).  Do 71(f)(4) before (f)(3)

B. INSERT NOTES FOR ALIMONY RECAPTURE HERE if it meets it the definition is Section 71(b), then it will be includable per Section 71(a) and deductible per Section 215(a).

C. Indirect Payments.  Section 71(b)(2) defines divorce or separation agreement.  Per I.T. 4001 the ex-husband was paying premiums on two insurance policies and one was considered the husband’s property and was not an alimony or separate maintenance payment because the husband had the incidence of ownership and therefore the payment wasn’t received by the spouse and violated Section 71(b)(1)(A).

D. Problems on page 205-206

1. Problem 1(a) – rental payments of $1,000 per month to ex-wife’s landlord are alimony

2. Problem 1(b) – mortgage payments on house transferred to ex-wife are also alimony

3. Problem 1(c) - mortgage payments and real estate taxes and upkeep on house owned by husband (not transferred to the ex-wife) is not alimony.  Neither is it alimony if the husband lets the ex-wife live in the house rent-free because it is not a cash payment.

4. Problem 2(a) – Roseanne transferring an insurance policy to her ex-husband is not alimony because it is not a cash payment.  It is treated as a gift per Section 1041(b)(1), transfer between spouses, and Roseanne will not have any gain/loss per Section 1041(a).  What happens when Roseanne dies?  Will the service say that she gave valuable consideration (because Tom was giving up marital rights), so will the life insurance be fully includable per Section 101(2)? No, because there is an exception in Section 101(a)(2)(A) if there is a transferred basis and there is a transferred basis per Section 1041(b)(2), so Section 101(a)(2) will not apply

5. Problem 2(b) – will be considered alimony unless the Service uses a form over substance argument (where Roseanne pay Tom $60,000 and he purchases the policy for $60,000).  Would have to worry about front-loading if this transaction if it was made in the first three years after the divorce.

6. Problem 2(c)  - the $5,000 related to the transfer of the life insurance policy is no alimony similar to Problem 2(a) above and the $5,000 cash transferred to him is alimony.

7. Problem 2(d) – it is alimony if Roseanne transfers the $5,000 premium annually directly to the insurance company because it is paid on behalf of Tom per Section 71(a)(1)(A).

8. Problem 2(e) – your authority is I.T.4001 where Roseanne retains ownership of the policy but Tom is the irrevocable beneficiary. 

E. For property settlements it must meet the requirements of Section 1041 (a)(2), which covers transfers to a former spouse, but only if the transfer is incident to the divorce.  “Incident to the divorce” is defined in Section 1041(c) (1) says incident of divorce is within 1 year after the date the marriage ceases or Section 1041(c)(20 is relative to cessation of marriage, which is defined in the Reg. 041-1T(b) Q&A 7 which not more than 6 years after the date on which the marriage ceases.  If it is more than 6 years, it is presumed to not be a property settlement related to the cessation of marriage, but this can be rebutted only by showing that the transfer was made to effect the division of property owned by the former spouses at the time of the cessation of the marriage; and it is not be considered alimony per Section 71(a).  This was enacted to level the playing field between community property and separate property states that resulted from the Davis v. Davis case.

F. Problems on page 210  

1. Problem 1(a).  Michael transferred property with a FMV of $500K and an AB of $100K to his spouse pursuant to Section 1041(a)(2) for a gain of $400K realized per Section 1001(a) but not recognized under Section 1001(c) because of the exception in Section 1041(a). When Lisa Marie sells the property for $600K, AR per Section 1001(b), that still has Michael’s AB of $100K per Section 1041(b)(2), she will have $500K gain recognized under Section 1001(a & c) and it will probably be “long term capital gain.”  Her divorce attorney should prepare her for the tax consequences or get a larger settlement so that the taxes are covered.

2. Problem 1(c) - Lisa Marie’s loss under problem 1(b) on page 210 is recognized, “it may not be deductible.”  Her AR is $350K per Section 1001(b) and she gets Michael’s AB per Section 1041(b)(2) for a loss that is realized and recognized under Sections 1001(a & c) “but it may not be deductible.”

3. Problem 1(c) – Michael transfers the property 5 years after the divorce and pursuant to the divorce decree, but we don’t know if it is related the cessation of the marriage, which means it is incident to the divorce and if all 3 of these elements apply then Section 1041(a)(2) applies and there will be no gain/loss recognized in Section 1001(c) because of the Section 1041(a) excpeption.

G. Child Support – you don’t get a deduction for the amounts you spend on your child so if you spend on your child per a child support agreement, it is likewise not deductible per Section 71(c)(1 and 2)

H. Problems on page 212

1. Problem 1(a) – allocate the child support, which is not includable in gross income, per Section 71(c)(1)

2. Problem 1(b) – allocate the child support per Section 71(c)(2)(A) – a reduction that is related to a contingency so it will be treated as a fixed amount such that Section 71(a) will not apply.

3. Problem 1(c) – the payments reduced based on the children reaching age 18 Reg. 1.71-1T(c) Q&A 18 and it is considered fixed per Section 71(c)(1)

4. Problem 1(d) – where Sean doesn’t pay the full amount specified in the decree for alimony and child support, the payment is first considered  to reduce child support and then applied to alimony (a dead beat dad rule, the dad would prefer it to be alimony). 

XIII. Chapter 11, Other Exclusions from Gross Income

A. Section 121, Exclusion of gain from sale of principal residence.  It was changed in 1997 from 2 sections, 1034 and old Section 121.  Section 1034 was a non-recognition of gain from the sale of your home and to use Section 1034 you had to buy a more expensive home so it is inefficient.  The old section 121 only allowed for a one time exclusion of $125K at age 55, which is also inefficient because people may delay   and the old rules didn’t raise that much income.  To date, this has been the most important section because this is usually a taxpayer’s largest asset and the one area where taxpayers are most likely to have a gain.

B. Problems on pages 224-225

1. Problem 1(a) the AR per Section 1001(b) is $600K and the AB is $200K for a gain of $400K realized and recognized under Sections 1001(a and c).  Section 1041(a) is a non-recognition section and Section 121(a) is an exclusion and but the $400K is still recognized under Section 1001(c), but it is then excluded from GI per Section 121(a), so the $400K is excludable from GI (it is within the limitations of Section 121(b)(2)(A).

2. To get the Section 121 exclusion, it must be the principal residence, owned and used by the taxpayer for 2 of the last 5 years.  Section 121(b) provides limitations on how much can be excluded.

3. Problem 1(b) has the same result as Problem 1(a) with $0 of the $400K gain is includable in GI, all the $400K is excludable

4. Problem 1(c), since the home was sold before the 2-year period, the $400K will be includable in GI.  NOTE:  Section 121(c) provides exceptions to Section 121(b)(3)(a).  Section 121(g) allows you to tack on the ownership period of a Section 1034 home.

5. Problem 1(e) - $500K is excludable and $300K is includable in GI per Section 121(b)(2)(A)

6. Problem 1(e) – the $400K is includable because Section 121(a) does not apply because it is a summer home

7. Problem 1(f) - $400K AR less $190 AB is $210K gain less $200 and the $10K is LTCG, Section 1250(1)(h) unrecaptured gains   $200k is excludable per Section 121(d)(6) 

8. Problem 2(a) – to get to Section 121(c)(1), you must first get through Section 121(c)(2), which is sales to which this subsection (c) applies, which is “exclusion for taxpayers failing to meet certain requirements.”  Exclusion allowed divided by excluded amount equals years owned, so the amount excluded is $250K time ½ or $125K.  The exclusion is the ratio to the amount of the limitation.  So the partial exclusion is $125K

9. Problem 2(b) – is taxpayer in 2(a) Problem sells the property for $700K with an AB of $500K then $125K (per ration calculated in Problem 1(a) will be excluded and $75K will be included

10. Problem 3(a) – taxpayer meets the use requirement but the spouse does not, so Section 121(b)(2) is not available and they can only get $250K of the $400 gain can be excluded

11. Problem 3(b) – both spouses meet the “use” requirement so the entire $400K of gain will be excludable.  If single and own as tenants in common each will have a $250K exclusion 

12. Problem 3(c) – the transfer of the property pursuant to a divorce is handled by Section 1041 and there will be no includable income because the “use requirement” can be met via Section 121(d)(3)(B), which will get you into Section 121(a)

13. Problem 3(d) in this you need to use Section 121(d)(3)(A) to meet the ownership requirement and Section 121(d)(3)(B0 to meet the ownership requirement so that you can get the exclusion per section 121(a).

C. Income Earned Abroad – Section 911

D. Exclusions and Other Tax Benefits Related to the Costs of Higher Education

E. Credits are better than a deduction are better because it is a dollar for dollar reduction of taxes instead of an incremental reduction.  Education credits are not refundable credit and refundable credits are also before non-refundable credits

F. Problems on pages 232-233

1. Problem 1(a) – student pays $10K in law school tuition and her and her husband have AGI of $30K and they will have a $1,000 Lifetime Learning Credit of $1,000 (limited to 20% of $5,000 or $1,000) and they do not meet the phase out limitations under Section 25A(d).  Courses in only golf course are not subject to the credit, unless it is a part of you degree plan per Section 25A(f)(1)

2. Problem 1(b) – the fact that the student has a loan does not affect the calculation of the education credit.

3. Problem 1(c) -Section 25A(g)(2)(a) – if the student receives a scholarship, the credit is calculated on the amount actually paid by the student and you don’t use the scholarship $$ to calculate the credit.

4. Problem 1(d) - Per Section 25A(g)(2)(c) - Gifts from parents do not affect the calculation of the credit; HOWEVER THE PARENT CAN’T TAKE THE CREDIT per Section 25A(g)(3).

5. Problem (1)(e) trying to find out the amount of the reduction to the credit due to AGI limitation phase outs in Section 25A(d)(2) such that the reduction in credit over the credit amount which is equal to Modified AGI divided by $20K which is $1K time (100K less than $80K divided by $20K

6. Problem 1(f) – the Hope Credit only applies to the first two years of school per Section 25A(b)(2)(a).  The couple cannot take two Lifetime Credit per Section 25A(c)(1), which says the credit is per taxpayer, which means a return can only have one Lifetime Credit and Section 25A(g)(6) forbids the filing of separate returns to get two Lifetime returns.

7. Problem 1(g) – taxpayer would rather have the Hope because it is $1,500 rather than the Lifetime Credit which is currently limited to $1,000.  The applicable limit for the Hope is found in Section 25A(b)(4).  Can you have a Hope scholarship Credit and a Lifetime Learning Credit on the same tax return? Yes, per Section 25A(a)

8. Problem 1(h) – Tax liability would be $2,000 and the refund would be $1,000.

XIV. Chapter 12, Assignment of Income.  Until now we have only been studying what is included in GI and we are now moving to the section on “whose income is it?”  This is important due to the progressive rate structure and taxpayers will try to shift income from a person in a higher bracket to a taxpayer in a lower bracket.  Will look at two things:

A. Assignment of income from services

1. Lucas v. Earl – Earl was the taxpayer. Earl had a contract with his wife such that she received half his earning. HOLDING – income from services will be taxed to the person who earned it and cannot be assigned to anyone else.  A different ruling would have resulted in the death of the progressive tax structure.

2. Commissioner v. Giannini - Bancitaly became the Bank of America.  Giannini refused his salary and told them to do something worthwhile with it.  The Board gave the money to the University of California and the University of California built The disclaimer of income was made before the services were performed and he did not direct where the money was to go  

B. The assignment of income from property

C. Problems on 252-253

1. Problem 1(a) -Executive giving salary to parents would still be income to the Executive and if would be a gift to parents per Section 102

2. Problem 1(b) is an invalid disclaimer because the Executive is directing that the money be given to a charity

3. Problem 1(c) - A year-end bonus was not disclaimed prior to services.  If the bonus were a surprise (not given every year) then the disclaimer would be valid.

4. Problem 1(d) - The honorarium is not income because per her contract she has to give it to her company per Revenue Ruling 74-581.  If the contract did not call for it, it would be income to the Executive.

D. Helvering v. Horst - no a gift per Section 102(b).  The father giving interest coupons to son was still income to the father.

E. Blair v. Commissioner – the father gave the full ownership interest in the trust to children, it was determined that it was not income to the father.

F. Horizontal transfers (through time) of income are valid. Vertical assignments of income are INVALID, if the taxpayer has an interest on either side of the assignment.  If taxpayer transfers income from trust for first three years and then gets it back in the last three years, it will be income to taxpayer in all ten years.  It would not be income to the taxpayer 

G. If you want a valid assignment of income, you must give up the entire property; so the key is ownership.  

H. When was there a sale or other disposition of property.  The income was transfer out

I. Basic rule for services is you cannot transfer income from services unless you disclaim the income BEFORE the income was earned and you can’t direct how the income is to be used

J. Basic rule for property is that you must have assigned it before its sale or disposition, it must be co-terminus (taxpayer gives up his interest at the same time the assignee takes his interest), and the income must not have ripened. 

K. Problems on pages 272-273

1. Problem 1(a) – on April 2 of the current year, Father assigns Daughter all the interest coupons.  This is similar to the Horst case and the father will be taxed on all the income and in Year 1, Father will have $800 of income

2. Problem 1(b) –This is similar to the Blair case.  Father will have $400 of income in Year 1 and Daughter will have $400 of income and in Year 2 Daughter will have $800 of income.

3. Problem 1(c) - Father gives Daughter a one-half interest in the bond and the right to interest payments.  There is a co-terminus transfer.  On future interest payments to Daughter of $400, $200 will be income to father and $200 of income to the Daughter (income from the gifted portion).  Additionally, the Daughter will have a $200 gift.  IN Year 2 it will be $400 of income to both Father and Daughter.

4. Problem 1(d) Father sells the interest coupons to Daughter for $600.  This is similar to Stranahan.  Father will have $1000 income in Year 1 ($400 interest and $600 from the sale of 2 interest coupons, ordinary income to Father, to Daughter).  Daughter’s basis in each interest coupon is $300 and when she receives the interest payments in Years 1 and 2, she will only have $100 of income which is ordinary income ($400 AR less $300 AB).

5. Problem 1(e) – on December 31, Father gives Daughter the bond with the right to all interest coupons.  Father must recognize the interest accrued to him (it is too ripe).  So the next interest payment will be split between Daughter and the Father.  Thereafter, all interest will be income to Daughter.

6. Problem 1(f) –.  On April 2, Father sells the bond and directs the $9,000 proceeds to be paid to Daughter.  The gain was realized before he made the transfer like the Salvatore case, i.e., when he sold it.  It is a gift to Daughter.

7. Problem 1(g) - Prior to April 1, Father negotiates the above sale and in April 2 he transfers the bond to daughter who transfers the bond to Buyer who pays Daughter the $9,000.  Did the negotiation lead to the contract to sale and if the negotiation was a firm sale, then the gain would be realized by Father and he would be taxed.  So it depends on how far along the deal went along.

8. Problem 3(a) - If a patent is a service the Inventor will be taxed, if we treat the patent as property the son will be taxed.  Patents are treated as property, so the son is taxed rather than the Inventor.

9. Problem 3(b) - Patents are tax favored.  The royalty payments are uncertain and the son would be taxed, which is what makes this problem different from the Salvatore case.

L. Relevant Rules of Law Relative to Assignment of Income

1. Income from Services.  A statute can tax salaries to those who earned then and can provide that a tax cannot be escpated by anticipatory arrangements or contracts which prevent salary form vesting even for a second in the person who earned it (Lucas v. Earl).

2. Income from Services.  When a taxpayer, by anticipatory assignment, makes a gift of the interest or compensation which he is entitled to receive at a future date in return for his present services, he nevertheless thereby realizes taxable income just as surely as if he had first collected the income and then himself paid it directly to the donee (Commissioner v. Gainnini).

3. Income from Property.  For income tax purposes the power to dispose of income is the equivalent of ownership of it, and the exercise of that power to transfer payment of the income to another is the equivalent of realization of the income (Helvering v. Horst0.

4. Income from Property.  The beneficiary of a testamentary trust whose assignments of the income thereof are valid is not taxable under the Federal Income Tax Act on the income so assigned (Blair v. Commissioner).

5. Income from property.  A taxpayer stockholder may assign his rights in order to anticipated dividends to avoid tax liability so long as the assignment is a bona fide, good-faith commercial transaction (Estate of Stranahan v. Commissioner).

6. Income from Property.  A sale by one person cannot be transformed for tax purposes into a sale by another by using the latter as a conduit through which to pass title (Susie Salvatore).  

XV. Chapter 14, Business Deductions.  Exclusions come into income that are then excluded, so you must have an item of income before you can exclude it.  A deduction is an expenditure (it is money going out of the bank account).  Deductions are used to calculate taxable income.  Credits reduce tax liability dollar for dollar and are better than credits because they only reduce your tax liability by your average tax rate.  To be able to take a deduction you must find a deduction section.  Even if you find a deduction is Part VI (Itemized Deductions for Individuals and Corporations) but even then the deductions in Part VI are subject to the exceptions in Part IX.

A. Tax rates are applied to taxable income

B. Taxable Income is defined in Section 63.

C. AGI is defined in Section 62.

D. Section 62(a)(1) tells you where to take the deductions – above the line to get to AGI.  Gross income less the deductions in Section 62 get you to AGI.

E. Below the line deductions are used to get to taxable income.

F. Itemized deductions are defined in Section 63(d).  Itemized deductions have to be below the line and this is consistent with Section 162(a)(1).  If trade or business deductions are associated with expenses as an employee they are below the line.  If the trade and business expenses are on behalf of corporation they are above the line.  

G. Trade or business deductions can be taken above or below the line per F.

H. Ordinary and necessary expense incurred in carrying on a trade or business and must be paid and incurred in the taxable year.  Must satisfy each of these elements or the expense will not deductible per Section 162.

I. Section 212 – things deductible for the production of income.  Section 262 says there are no deductions of personal or living expenses.  Exception is those expenses that are deductible regardless of whether it is business or personal such as property taxes.  Can get deductions for purely personal expenses such as medical expenses, mortgage interest, and charitable deductions.

J. Welch v. Helvering.  The payments were deemed necessary (appropriate and helpful) for the development of the business but were they ordinary (habitual and common is NOT the correct definition to use, a once in a lifetime lawsuit and the resultant legal fees could be ordinary relative to the group or community in which you do business).  Life in all its fullness must supply the answer to the riddle (court is not giving us much help here).  This was a necessary and ordinary payment per the court, they will look to the taxpayer’s judgment.  Expenses are contrasted to capital expenditure, which are not deductible per Section 263.  The court treated the repayment of bankrupt debts after getting a new job as capital assets (i.e., reputation and learning) and would not allow the deduction  

K. 47 TCM 238 Harold L. Jenkins (Conway Twitty) had a chain of restaurants called Twitty Burger and Twitty paid all his investors and he was allowed a deduction because he was repairing his reputation as opposed to Mr. Welch was trying to CREATE goodwill.

L. Problems on page 313

1. Problem 1(a).  Money was lost due to his own mismanagement and he was trying to keep his job so his expenditures to bail out the savings and loan were deductible. 

M. INDOPCO, Inc. v. Commission Reg. 1.162-4 tells you what repairs are (as contrasted to capital expenditure in Reg. 1.263-A2.

1. The cost of incidental repairs which neither materially add to the value of the property nor appreciably prolong its life, but keep it in ordinarily efficient operating condition, may be deducted as an expense, provided the cost of acquisition or production or the gain or loss basis of taxpayer’s plant, equipment, or other property, as the case may be, is not increased by the amount of such expenditures.  Repairs in the nature of replacements, to the extent that they arrest deterioration and appreciably prolong the life of the property, shall either be capitalized and depreciated in accordance with Section 167 or charged against the depreciations reserve if such an account is kept.

N.   The creation or enhancement of an asset is a prerequisite to capitalization per the Lincoln Savings case but the Supreme Court did not buy this in the INDOPCO case.  Must look at whether the transaction benefits extend beyond the tax year in question.

O. Section 195, Start-up expenditures.  The general rule is that there is no deduction for start-up expenditures per Section 195(a).  A start-up expenditure is defined in Section 195(c) which says it is any amount paid or incurred in connection with:

1. Investigating the creation or acquisition of an active trade or business OR

2. Creating an active trade or business OR

3. Any activity engaged in for profit and for the production of income before the date on which the active trade or business begins, in anticipation of such activity becoming an active trade or business

P. Section 195(c)(1)(B) also requires that if the expenditures were associated with an active trade or business, the taxpayer would be able to deduct them in the current year.  The is the section that keeps a person from trying to amortize a 39 year apartment building over 5 years as a start-up cost when he purchases his first apartment building. 

Q. If you fail to make the election to amortize start-up expenses you cannot take the deduction for start-up expenses 

R. Section 195 does not cover Section 212 expenditures, Expenses for Production of Income

S. Problems on Page 333

1. Problem 1(a). Doctor get inheritance and expends $$ wanting to develop industrial property, so she will not have a deduction under Section 162 because she is “not carrying on a trade or business.”

2. Problem 1(b) - The only question is whether developing industrial properties and developing residential property is the same trade or business.  If so, the preliminary investigations will be deductible.

3. Problem 1(c).  Under Section 195(b)(1) will not allow you to deduct start up costs unless you actually start the business.  McNair would not have been able to deduct the expenses of trying to get the Texans if the deal had fallen through.

4. Problem 1(d) – taxpayer cannot forego the Section 195 election and then use it as a deduction in Section 162.  Furthermore, once she started developing the properties, the Section 195 election is no longer available to her.

5. Problem 1(e) - Section 195(b)(2) says you can deduct what would have been allowed if you dispose of the business before the amortization period is complete. 

6. Problem 2(a and b).  Can’t use Section 195 for job-hunting expenses for your first job are not deductible under Section 195 (statutorily).  It is not deductible even if the employment agency is successful in finding the taxpayer a job.

7. Problem 2(c) – payments to an employment agency that are contingent on the agency finding the taxpayer employment are deductible per the Hundley case.

8. Problem 2(d) – it is deductible because the taxpayer is already a secretary (she is carrying on a trade or business)

9. Problem 2(e).  Is being a secretary and bank teller the same line of business?  If not, there is no deduction, but you could argue that she is “carrying on” per the Professor

T. Substantial lack of continuity in employment results in you not carrying on an “active” trade or business

U. Travel expenses – still must be ordinary and necessary incurred iduring the taxable year in carrying on a trade or business.  The rules for travel are just layered on these general requirements of Section 162(a).

V. The Flowers case – the Supreme Court did not define home (for the expense being incurred “while away from home”) but the case failed because the expenses were not incurred in pursuit of business. It was Flowers personal choice to live in Jackson, Miss. and commute to Mobile, Ala.

W. In the Peurifoy cas the construction workers were in North Carolina too long, a job will not be considered temporary unless it is less than one year per the Code today..

X.  In the Rosenspan case, the taxpayer had no home per the Supreme Court so his deductions were disallowed.  The requirements (per the Flowers case) are:

1. Reasonable and necessary expenses 

2. While away from “home”

3. Incurred in pursuit of trade or business

Y. Problems on page 360-361

1. Problem 1(a).  Commuting to and from work is not deductible per Regulation 1.162-2(e).  Parking fees are considered as a personal expense as a part of the commute.  However, if they are paid by the employer, may be excluded from income per Section 132(a)(5), qualified transportation credit, if it meets the requirements of Section 132(f).

2. Problem 1(b).  Commuter cannot deduct going from suburb to courthouse in the same metropolitan area unless it is a temporary assignment.  Meals are not deductible.

3. Problem 1(c).  The lunch on the day he returns is not deductible unless it is for entertainment and then only 50% will be deductible.  The problem with deducting meals and lodging is that they look like personal expenses so the Supreme Court’s rule is a bright line rule (per the Correll (?) case) that if you have to stay overnight or need rest then meals and lodging are deductible.

a) Meals during a day trip are not deductible.

4. Problem 2(a).  Transportation for company business is always deductible and the meals and lodging will be deductible because she stayed over night. But the food and beverages are limited to 50% per Section 274(n). 

a) Analysis required for deductions:

(1) First find a deduction section 

(2) Look for limitations in Part IX of the code

(3) Determine if it is above or below the line (Section 62)

(4)  Section 67/Section 68

(5)  Itemized deduction or standard deduction per Section 63

5. Problem 2(b) – same result as Problem (a) even though the taxpayer is maintaining an apartment, the employer requires her to be there three days and two nights.

6. Problem 2(c) is just like the Flowers case and no deduction allowed in that Taxpayer lives in Metro and works there and Husband lives in City and works there – no deduction because it is a personal choice

7. Problem 3(b) – use the following factors to analyze deductibility if you live and work in two different places each year like the Andrews case:

a) The length of time spent at the location (most important and since the only fact is that he worked 7 months in the “off season”).

b) The degree of activity in each place

c) The relative portion of taxpayer’s income derived from each place

8. Problem 3(a) is also like the Flowers case and no deduction allowed for Pro football player when he stays where the team is.

9. Problems 4(a,b,c).  Travel, lodging, and meals (subject to 50%) are deductible if you are doing business in another city as long as it is less than 1 year per the flush language of Section 162.  As soon as it becomes obvious that the stay is indefinite, it will not be deductible from that time forward.  If the stay was to be 15 months it is not deductible and if it started out as indefinite and becomes less than 1 year, still not deductible (it is intent that controls).

10. Problem 5(a) - travel fares and lodging are deductible if it is reasonable and necessary and directly attributable to the business.  Per Reg. 1.162-2(b)(1) allows a trip that is part personal and part business to be deductible if the trip is primarily attributable to business and the amount of time spent on business v. personal is determinative and if more time is spent on personal than the travel expenses are not deductible.  But the meals and lodging associated with the business purpose is deductible even if more time is spent on personal.  

11. Problem 5(b) – per Section 274(m)(3) – you cannot deduct your spouse’s expenses on business trip unless it is directly attributable to the business or trade. 

12. Problem 5(c) – if traveler stays in Florida more days for personal than for business, the travel back and forth to Florida is non-deductible but the meals and lodging relative to the business are deductible subject to the 50% limitation on meals in Section 274(n).

13. Problem 5(d) – Section 274(m)(1)(a) says there is a limitation on water travel (i.e. a cruise) to twice the aggregate amount of the per diem.  Section 275(h)(1) only applies to conventions on cruises and must meet 274(h)(5) which says it must be a cruise in US waters and US ports of call. 

14. Problem 5(e) – in the case of foreign travel, if it is for both personal and business, you must allocate the travel expenses to the days spent on business v. the days spent on personal.

15. Problem 5(f) – Saturday and Sunday are treated as business days (GET REG) so 6/9 of travel costs are deductible and all of the meals and lodging for the business days are deductible subject to the 50% limitation of Section 274

16. Section 274(h)(1) – the costs of conventions in the Northern hemisphere are deductible per Section 274(h)(1)

Z. In the codes, regulations, and Flowers case duplication of expenses is not required (the Andrews case suggests that you need duplication but the Professor does not think duplication is required.

AA. Educational expenses

1. Hill v. Commissioner – teacher had to renew her teaching certificate every 5 years either by taking courses or taking an exam on 5 books.  Clearly, the very logic of the situation here shows that the teacher went to Columbia to maintain her present position, not to attain a new position; to preserve, not to expand, or increase; to carry on, not to commence.  This is the first case of a taxpayer getting to deduct educational expenses. Reg. 1.162-5(a)(1)

2. Coughlin v. Commissioner.  Reg. 1.162-5(a)(2) covers the deduction to educational expenses.  In this case, the tax attorney wanted to deduct his CLE because he was the only tax attorney in the firm.

3. Must meet one of the positive requirements and none of the two negative requirements (cannot be expenses to meet the minimum educational requirement and cannot qualify the taxpayer for a new trade or business) per 1.162-5(b).  Why have these?  Because these do not meet the “carrying on” of a trade or business and it is more in the nature of a capital expenditure.  Those educational expenses that are deductible are in the nature of intellectual repair.

4. Problems on page 380

a) Problem 1 – Alice, a doctor, cannot deduct her expenses for going to law school because it qualifies her for new trade and it is non-deductible even if her employer requires, per 1.162(5)(b)(3).  Could only deduct it if you took it non-credit and audit the courses.  Barbara is a dentist and wants to go to school to become an orthodontist, these educational expenses are deductible because it is in the same trade or business.  Cathy, a CPA, who is pursuing a law degree, will have non-deductible educational expenses (but look for Lifetime Learning Credit).  Denise, a practicing lawyer, pursues her law degree, this is deductible because it is part of her trade or business.  If she pursued her LL.M. immediately after JD, it is not deductible because you are not carrying on (show an intent to return and you won’t be considered to abandon). 

b) Problem 2 – travel, meals (50%), and lodging are deductible for going to school and there may be a duplication issue (she may need to keep her home in Washington as well as her school residence in Florida).

c) Problem 3.  Traveling to Europe and trying to deduct expenses because you are a World History teacher (traveling as education) is non-deductible per Section 274(m)(2).  If you are an art student and visit the Louvre as a part of your studies, it may be deductible.

AB. Miscellaneous Business Deductions –if you take a client to lunch, you get the deduction in Section 162 as limited in Section 274 as directed in Section 161.  Section 274(a)(1)(a) – must be DIRECTLY RELATED and it must be before, during, or after t he entertainment and there is a 50% limitation under Section 274(n)(1) and Section 274(k)(1)(A) says that it must not be lavish and Section 274(k)(1)(B) says the taxpayer must be present and Section 274(d) requires substantiation.

AC. Problems on Page 388

1. Problem 1(a) - $100 business lunch with two martinis and $5 tax and $15 tip.  It is deductible per Section 162 and all are the Section #274 limits met.  Can take 50% deduction or $50.  It is a below the line deduction per Section 62(a) and a miscellaneous itemized deduction per Section 67(b).

2. Problem 1(b) – having lunch and touching base with client is non-deductible

3. If the employee is not present it is not deductible per Section 274(k)(1)(B).  However, sending the business contacts to lunch could be a gift, limited to $25.

4. Cab fare to lunch is deductible per Section 162.

5. Opera tickets are deductible per Section 162 and they talk Section 274(l)(1)(a) says you can only deduct up the face value of the tickets as limited by Section 274(n)(1)

6. Problem 2-1.  Are airline uniforms deductible – can not be used for general use and required by the employer.  

7. Problem 2-1.  Maintaining (dry cleaning the uniform IS deductible)

8. Problem 2-3.  Advertisement for pilot to try to get property management jobs is non-deductible, it is not his trade or business. 

9. Problem 2-4. Union dues are deductible unless they are used to influence legislation. 162 (e)(2)(3)??.

10. Problem 2-5.  Political contributions are generally not deductible except on the local level.

11. Problem 2-6.  Fees to local gym for the pilot to stay in shape are non-deductible; however, protein drinks for a person who gave plasma are deductible.

AD. Business Losses.  Defined in Section 165.  General rule any loss is deductible that is not compensated by insurance for businesses.  For individual losses are deductible for trade or business or transactions entered into for profit per Section 165(c) and are limited to basis per Section 165(b).  Individuals can also have casualty losses as an itemized deduction.

AE. Depreciation is covered Section 167 and 168.  Depreciation is the practice of allocating the cost of a fixed asset over its useful life to match the use of the asset to the income it produces.  There is an offsetting tax cost of having to lower the cost per Section 1016.  A machine purchased for $25K and the revenue of the company is $30k and the use of the machine is $5K per years.  With matching you would allocate the use of the machine each year and have $25K of income per year.  The rationale for depreciation is that it approximates economic reality.  There are broader policy implications in that depreciation is used by Congress to stimulate investment and encourage investment.  You will get a larger depreciation deduction if the economy is to be stimulated.  Before 1986, non-residential real property (office buildings) had a recovery period of 19 years and in 1986 it was increased the recovery period to 31.5 years and with a tightening of the passive loss lead to the decline of real estate and the failure of S&Ls.

AF. Start with depreciation in Section 167 and cannot take a deduction without a specific code section.  Section 167(a) says the asset must suffer form exhaustion, wear, and tear.  Land is NOT depreciable, although the building on the land is depreciable.  A truck is depreciable, but cash is not.  Patent rights are amortized which is deprecation of an intangible asset.  A stratavarius violin is an asset that appreciates; however, the court allowed deprecation allowance of the violin bow in the Simon case because it suffered from The service has issued a non-acquiescence opinion that they will not follow this decision.  The case did distinguish between a bow used by a musician and one sitting in a museum.  Your personal residence is not deductible unless you have a home office. Section 167c1 tells you what can be depreciated.  Then need to figure out how much depreciation can be deducted.

AG. Section 167 is the “what” and Section 168 is the “how.”  Section 168(a) tells you that you need the method, convention, and the recovery period

AH. Deprecation = Adjusted basis x method x 1/recovery period x the convention

AI. Section 168(b) gives you the method of deprecation

AJ. Section 168 (b)(3)(a-e) provides you with the types of property that can have straight-line depreciation applied.  You can elect to have SL under b3d, but that is rare and would only do it if they knew there would be losses in the early years and more income in the later years when you have higher income, but you can have an NOL that is carry back carried forward.  Look 1.167b-1 is the regulation that tells you that SL the cost or other basis of the property less its salvage GET TEXT.  AB divided it by its remaining useful life is the straight line depreciation.  Under 168(b)(4) tells you to treat salvage value as $0.

AK. The declining balance methods apply.  The 200% method applies to 10 year or lower (3,5,7, and 10 year property) while the 150% method applies to 15 and 20 year property per 168(b)(2)a and the property to which the taxpayer elects.  There is no election for the 200% method.

AL. Where is the declining balance method is defined?  In the Regs., 1.167b-2.  A uniform rate is applied each year to the unrecovered cost of the property.  AB – any depreciation allowed multiplied by the rate (also known as the method) and then divide by the recovery period (or is multiplied by one over the recovery period).  The rate for the 200% method is 2 and the 150% method is 1.5.  The declining methods do not give you any more depreciation than the SL method, it just gives it to you faster and with the time value of money it give you more $$.

AM. Section 168(c) gives you the recovery period and need to know what kind of property it is and you find that in Section 168(e)(1).  Property with a 15-year class life is 7-year property and has a 7-year recovery period.  Need the class life which will tell   you the year property and which will

AN. Conventions are listed in Section 168(d)- general rule is 168(d)(1) and that is the half year convention and it is defined in 168d4a which treats all property acquired or disposed of in any taxable year as being acquired or disposed of at mid-year.  This was done for administrative ease.  The code takes care of people making all purchases in December via 168d3, if greater that 40% of property is purchased in the last 3 months of the year then the taxpayer will used the mid-quarter convention per Section 168(d)(4)(c).  Would only get 12.5% of the deduction.

AO. Real property under 168(d)(2) is the mid month convention which is defined in Section 168(d)(4)(b).  So for real property purchased in January your convention would be 11.5/12 and in December it would be 0.5/12

AP. The cost of depreciation is the adjustment to basis per Section 1016(a)(2)(a).  Reduce basis by the amount of depreciation allowed (write in the code the amount of depreciation taken on the return).  But not less than the amount allowable (what they should have taken). If no method is chosen the amount allowable is the SL method, if the taxpayer subsequently decides to start depreciating.  This flush language stops game playing by the taxpayer on deciding to depreciate whenever he feels it is most beneficial to him.  Section 1016 (a)(2)(b) is a gift, if you took too much deprecation erroneously your basis will not be adjusted accordingly unless it reduced you tax liability.  Depreciation is normally taken above the line, but it is possible that it may be taken below the line.

AQ. Hypo – taxpayer purchases a piece of machinery of $2,100 and has a class life of 9 year and a salvage value of $400.  The basis of property is $2,100 per Section 1012.  Can’t expense it all in one year because of Section 263, so see if a portion can be deducted per Section 167 because it is used in trade or business and suffered wear and tear and exhaustion.  So per 168c it has a $2,100 AB, it is 5 year class property so the method is 2 (200% declining balance) and the recovery period is 5 year so 2100 x 2 x 1/5 x ½ which gives you a depreciation deduction of $420 in year 1

1. Year 2 = 2 x 1/5 x 1 x 1680 (amount of AB remaining) and the depreciation deduction of $672

2. Year 3 your basis is 1008 x 2 x 1/5 x 1 for a depreciation deduction of $403.20

3. Year 4 the basis is 604.80 x 2 x1/5 x 1 = 241.98 

4. Year 5 under DB would be $145.15 and the basis ins 362.88 and divide it by the remaining recovery period for depreciation of $241.92 which is greater than the amount obtained under DB so you switch to SL per Section 68(b)(1)(b).

5. Year 6 is the remaining basis of the property as depreciation or $120.96.  You have depreciation in year 6 because of the half-year convention.

6. Revenue Procedure on Page 1762 (PUT IN CODE AT SECTIONS 167 AND 168) makes this much year and it is multiplied by the starting adjusted basis

AR. The 150% method – the only thing that is different is that you change the convention above from 2 to 1.5 (can’t use the table above for this method). You get the following deprecation deductions:

1. Year 1 = $315

2. Year 2 = $535.50

3. Year 3 =$374.85 (starting basis is 1249.50)

4. Year 4 = $262.40 but compare to SL which would give you $349.86, so use SL in year 4

5. Year 5 = $349.86

6. Year 6 = $174.93 (half of $349.86)

AS. SL method, you get the following depreciation deductions:

1. Year 1 = $210

2. Year 2-5 = $420

3. Year 6 = $210

AT. Second element is in 167a 1 or 2 – the property must be used in trade or business OR in the production of income

AU. Relevant Rules of Law Relative to Business Deductions

1. “Ordinary and necessary.”  In order to be deductible, an expense must be “ordinary” in the business are practiced by the taxpayer (Welch v. Herlvering).

2. “Expenses.”  Costs and fees associated with a corporate acquisition are not deductible as “ordinary and necessary’ business expenses (INDOPCO, Inc. v. Commissioner).

3. “Expenses.”  Where a taxpayer incurs costs associated with the improvement of property so that the value of the property is increased, its use is prolonged, or it is fashioned for a different use, such expense is classified as a capital improvement and must be capitalized (Norwest Corporation and Subsidiaries v. Commissioner).

4. “Carrying On” Business.  The expenses of investigating and looking for a new business and trips preparatory to entering a business are not deductible as ordinary and necessary business expenses incurred in carrying on a business (Morton Frank).

5. “Reasonable” Salaries.  An unreasonably large salary expense that has not been determined by a free bargain between the employer and the employee may not be deducted by the employer (Harold’s Club v. Commissioner).

6. Travel “Away from Home.”  IRC Section 162 permits a deduction for traveling expenses if and only if such expenses are:

a) Reasonable and necessary

b) Incurred in connection with business pursuits, and

c) Incurred “while away from home (Rosenspan v. US).

7. Travel “Away from Home.”  A person owning a second home in which to reside while on business may deduct costs associated therewith (Andrews v. Commissioner).

8. Necessary Rental and Similar Payments.  Where a taxpayer enters into a lease agreement providing for the eventual transfer of title at the termination of the lease period, for federal tax purposes the Internal Revenue Service may disregard the labeling of the transaction as a lease and may properly treat it as a sale (Starr’s Estates v. Commissioner).

9. Necessary Rental and Similar Payments.  A formal assignment of property by a taxpayer to a family member and a lease back which leaves the taxpayer with substantial direct control as well as indirect control over the property transferred and which has no obvious business purpose is ineffective for federal tax purposes (Whie v. Fitzpatrick).

10. Expenses for Education.  Educational expenses that are required of the taxpayer to carry on her trade or business are deductible business expenses (Hill v. Commissioner).

11. Expenses for Education.  A business expense is deductible as ordinary and necessary if it is directly associated with, or immediately arises from, the practice of the taxpayer’s occupation (Coughlin v. Commissioner).

12. Depreciation.  In determining whether a gain was realized from the sale of an asset held by an entity that was utilized both for personal and business purposes, the government may allocate the gain or loss in respect to the percentages of pas personal and business use (Sharp v. United States, the airplane case).

13. Depreciation.  In order for a taxpayer to receive a depreciation deduction for wear and tear on property used in the course of business, the taxpayer need only demonstrate that such asset is susceptible to depletion, deterioration, or obsolescence, and not that it has a determinable useful life (Simon v. Commissioner, the violin bow case)

14. Depreciation = AB(Method)(1/RP)(Convention).  Section 167 tells you whether you can take a depreciation deduction.  Two things are required:

a) Property used in trade or business per Section 167(a)(1) OR

b) Property held for the production of income per Section 167(a)(2)

c) The property must suffer from exhaustion

15. Need to know the AB first per Action 167(c)(1)

16. Section 168 tells you how to calculate the depreciation which requires:

a) The depreciation method

b) The applicable recovery period

c) The applicable convention

17. Sharp v. United States.  The court required that the basis be split between the business and personal use.  Depreciation deduction can only be used for business expenses and was apportioned to the percentage of business use.  The AR was also apportioned.  On the personal portion of the plane they had a loss and it was non-deductible per Section 165(c) which limits losses for individuals to the following:

a) Losses incurred in a trade or business

b) Losses incurred in any transaction.

18. Can Depreciator deduct the entire $100,000 of equipment in Year 1?  No, per Section 263.  It is a capital expenditure that will have a useful life longer than the current taxable year per the Lincoln Savings and INDOPCO.  It is NOT a trade or business expense per Section 162.

AV. Problems on pages 426-427

1. Problem 1(a), he can elect SL under Section 168(b)(3)(D) and salvage value is $0 per Section 168(b)(4).  Useful life is irrelevant because we need the recovery period.  AB is $100K per Section 1012 and the method is 1 and the recovery period is 1/5 and the convention is ½ so the depreciation is $10K and the year 2 AB is $90K.  The year 2 AB is $90K per Section 1016(a)(2) and if he took too much depreciation (say $15K) then the AB is $85K and if you didn’t take enough (say $7K) the taxpayer’s AB will be less the $10k depreciation allowable and the AB will still be $90K Convention is covered in Section 168(d)(1) and 168(d)(4)(a), the definition.  Section 1016(a)(2)(a) is the amount allowed but only by the amount that reduces taxable income per Section 1016(a)(2)(B), so if you had a depreciation expense, in error, of $15K but if your taxable income from which the income is taken is only $13K then the basis will only be reduced by $13K instead of the $15K depreciation erroneously taken. 

2. Section 167(f) is when you would use salvage value and useful life.

3. Reg 1.167B1, SL is not taken against the declining balance, depreciation is calculated against the original AB.

4. Problem 1(b),   $100K(2)(1/5)(1/2)=$20K in Year 1, $80K(2)(1/5)(1)=$32K in Year 2.  If you use the DB method you would never fully depreciation the property because you are just continually dividing a smaller number by 2.  Switching to SL is per Section168(b)(1)(B).  But when switching to SL you divide the number of years remaining to be depreciated (i.e., 1.5 years when you switch in year 5).

5. Problem 1(c).  What will be the Depreciator’s basis for the sale of the property?  It is $11,520.  You use the half year convention in the year the asset is disposed of to calculate the depreciation deduction and the AB per Section 168(d)(d)(A) 

6. Section 179 allows some businesses to take an additional depreciation in the first year.  It is elective, you have to elect to take Section 179.  The dollar limits are in Section 179(b)(1) and the limitation that it be for smaller businesses is per Section 179(b)(2).  The maximum amount of Section 179 property that can be put in service and get the Section 179 election is $224K.  You cannot use Section 179 to create loss per Section 179(b)(3) and if some is disallowed it can be carried over per Section 179(b)(3)(B).

7. Problem 1(d).  The additional info you need is how much Section 179 property was placed in service that year and how much taxable income there is.  Section 179 property is defined in Section 179(d)(1) – tangible property to which Section 168 applies.  It cannot be received as a gift because it would fail under 179(d)(2)(C)(i).

8. Problem 1(e) uses the alternative depreciation system in which everything is the same except you use the class life as the recovery period.  In this case 6 years.

9. Problem 1(f) – cannot take a section 179 deduction per Section 179(d)(2)(A) and you cannot take Section 168 depreciation per Section 168(f)(5) is the anti churning rules that keep you from getting ACRS if property is acquired from a relative and must continue to use the same depreciation that was being used.

10. Problem 2(a) – Section 280F is in part IX and it therefore a limitation on the deductions found in Part VI.  Limitation on luxury autos is found in Section 280F(a), which is Congress’s way of handling what appears to be a personal expense.  A luxury auto is defined as one that costs over $12,800 ($13,700 if adjusted for inflation).  That rationale is why should a real estate agent be able to have Mercedes just because she drives clients around and the normal taxpayer has to drive a Ford.  Section 280F(a)(1)(B)(i/iii)

11. Problem 2(b) – only 70% of depreciation is allowed that is associated with the amount of business use.

12. Problem 2(c) – the business usage went below 50% as defined in Section 280F(b)(3), Property predominantly used in qualified business use and the excess depreciation in Years 1-3 will be included in gross income in the year that business use went to 50% per Section 280F(b)(1)(B).  This 50% limitation applies to ALL Listed property as defined in Section 280(d)(4).  Can’t expense a car under Section 179.  Once you get under Section 168(g) you can depreciate the car until you the entire $15K is depreciated.

AW. Section 197, Amortization of goodwill and certain other intangibles, was enacted to stop the litigation over the amortization of good will and intangibles (good will and mailing lists do not have a useful life).  This section says you can amortize such intangibles as defined in Section 197(d)(1).  If you paid $15K for a covenant that not to compete that lasts over 10 years it is still amortized over 15 years or $1,000 per year for the 10 year covenant not to compete.

AX. In depreciating real property you use the SL method and it makes a difference if it is residential  (27.5 years) or non-residential (39 years) because they get different recovery periods per Section 168(c) and the convention is the mid-month is per Section 168(d)(2).  Section 168(g) also allows for a 40- year recovery period. 168(e)(2)(a) defines residential real property. 

AY. Problems on Page 430

1. Problem 1(a). Dep= AB(Method)(1/RP)(Convention).  ($100k)(1)(1/27.5)(1) = $3,636.36

2. Problem 1(b). Dep = AB(Method)(1/RP0(Convention).  ($100K)(1)(1/39)(1) = $2,564.10

3. Section 168(g) depreciation would be $2,500.  ($100K)(1)(1/40)(1).

4. Problem 1(c) – the anti churning rules do not apply to real property.  The Service dose not care if you depreciate property over a longer period of time.

XVI. Chapter 15, Deductions for Profit-making, Non-business Activities

A. Higgins v. Commissioner – the Service ruled that Higgins’ expenses managing his extensive investments were not deductible.  Congress did not like this ruling and adopted Section 212.

B. Section 212 deductions must be:

1. Ordinary and necessary expenses

2. Paid or incurred during the taxable year

3. For the production or collection of income

4. For the management, conservation, or maintenance of property held for the production of income, or

5. In connection with the determination, collection, or refund of any tax.

C. Problems on pages 451-452.

1. Problem 1(a) – per Section 263 dealing with capital expenditures, you cannot currently deduct the commissions on the purchase of stock.  They are used to adjust the basis and the commissions on the sale of securities are an adjustment to the sales price.  UNLESS you are s securities broker.

2. Problem 1(b) – the AB of the stocks is $3,050 and the amount realized is $2,455 ($2,500 - $45) for a gain realized under Section 1001(a) of $595.  General Rule is that losses are deductible and per Section 165(c)(2) GET FROM CODE. Section 1211 may further limit the deductibility of losses. You must also characterize the loss per Section 1222(?).

3. Problem 1(c) – travel to shareholder’s meeting may not be deductible because she owns such a small ownership percentage – 1%.

4. Problem 1(d) – travel to shareholder’s meeting would be allowed because she owns a larger percentage – 10% (300,000).

5. Problem 2a – In a divorce the Payor of alimony cannot deduct attorney’s expenses unless it is for tax advice on deducting alimony per Section 212(3).

6. Problem 2b  -

7. Problem 2c – if Payor spouse pays off payee spouse’s attorney’s it may be gross income to here per Old Colony Trust case; however, it may still be deductible to her per Section 212(1).  Payor taxpayer should try to get the alimony characterized as alimony for it to be deductible subject, of course, to the alimony front loading rules. 

D. Meyer J. Fleischman case on page 443.  Wife signed ante-nuptial agreement and tried to get out of if and taxpayer took it to court and defended it successfully and then he tried to deduct the expenses.  The rule the court used was to look at the ORIGIN OF THE CLAIM and the court said the origin of the claim was the marital relationship and that was personal and, therefore, non-deductible.  Trying to get alimony is deductible.  The origin of the claim test only relates to Section 212(2) NOT 212(1) or (2).

E. William C. Horrman case on page 452.  AB is $60K per Section 1014 the basis at the time of his mohter’s death.  Taxpayer made $9K of improvements.  The taxpayer is trying to get deductions for the loss on the house, depreciation, and Section 212(2), maintenance and conservation of property for the production of income.  The court wanted to deny the losses because per Section 165(c)(2) the losses had to be incurred in any transaction entered into for profit, though not connected with a trade or business.  The court is worried about converting a personal loss not allowed under Section 262 into a deductible loss per Section 165(c)(2).  So the court wanted to require Horrman to rent the property to convert it into property held for the production of income.

F. Lowry v. United States on page 455.  Taxpayer was trying to take Section 212(2) deduction even though he had never rented it.  The court looked at whether the taxpayer had an expectation of profit using the following factors (page 459);

1. Length of time the taxpayer occupied his former residence prior to abandonment

2. The availability of the house for taxpayer’s use while it was unoccupied

3. The recreational character of the property

4. Attempts to rent the property

5. Whether the offer to sell was an attempt to realize post-conversion appreciation. 

G. Problems on page 461

1. Problem 1a.  Just looking and investigating for a business does not rise to the level to be in a trade or business and not deductible per Section 165(c)(2) or Section 212.  it would still be start up costs per Section 195.

2. Problem 1b.  Since he entered into business with the expectation of profit the expenses would be deductible under Section 165(c)(2)

3. Problem 1c.  Per Section 195(b)(2) he can deduct the start up expenses in the year of disposal if not fully amortized

4. Problem 2a.  The property is being held for the expectation of a post-conversion profit so can take depreciation under Section 167 and Section 165(c)(2) using the factors in Lowry above.

5. Problem 2b.  What is the basis the can use for depreciation after abandoning the property and renting it.  The SL method would be used per Section 168(b)(3) and the recovery period would be 27.5 unless they elected the Alternative depreciation method under Section 168(g) with a recovery period of 40 years.  To not allow the taxpayer to deduct any personal losses the basis used is the basis as of the time of conversion (if the FMV of the property has decreased since purchase).  This is per Reg. 1.167(g)-1.  Also look at Reg. 1.165-9(b)(2) to get how to calculate the loss of property that has been converted from personal use.

6. Problem 2b1.  The AR is $145K and the AB is $150K and the loss is $5K

7. Problem 2b2.  The AR I s $175K and the AB is $170K is the AB so the gain is $5K.  Reg. 1.165-9(b)(2) ONLY applies if you are selling the property at a loss.

8. Problem 2b3.  AR is $165K and the AB is $150K for a gain of $15K but because it is a gain on one side and a loss on the other it is nether a gain or a loss per Section 1015.

9. Problem 2c. $5K of gain is includable in income unless it is excluded from income per Section 121 except for Section 121(d)(6), that amount associated with depreciation taken after 5/6/97.

H. Rules of Law Relevant Deductions for Profit-Making Non-business Activities

1. Section 212 Expenses.  Expenses incurred in connection with personal investment activities are not deductible as ordinary and necessary business expenses (Higgins v. Commissioner).

2. Section 212 Expenses. Legal expenses incurred in defending title to property are not deductible as “ordinary and necessary expenses” (Bowers v. Lumpkin).

3. Section 212 Expenses.  Ordinary and necessary expenses genuinely incurred in the exercise of business judgment in an effort to produce income may be deducted under § 212 (Surasky v. United States).

4. Section 212 Expenses.  Legal expenses incurred as a result of defending property in a divorce proceeding or in a related proceeding are considered personal expenses, not business expenses, since they arise out of the marital relationship and do not arise out of profit seeking activities (Meyer J. Fleischman).

5. Charges Arising out of Transactions for Profit.  One may not deduct, as a long-term capital loss, a loss suffered from the sale of a home originally used as a residence but later offered for rent because a long-term capital loss can be incurred only in transactions entered into for profit.  Merely offering a residence for rent does not change its character from a residence to a business (William C. Horrman).

6. Charges Arising Out of Transactions for Profit.  A taxpayer is entitled to deduct maintenance on a house once it is abandoned as a personal residence and offered for sale but not for rent, if the property is held with a reasonable expectation for profit (Lowry v. United States).

XVII. Chapter 15, Deductions Not limited to Business or Profit-Seeking Activities.  These type of deductions help the rich more than the poor, but the counter argument is that the rich pay more.

A. The interest deduction is found in Section 163.  In order to have interest deductible it must be interest paid and accrued in the current taxable year.  Revenue Ruling 69-188 defines interest as the rent paid for money or the amount one has contracted to pay for the use of borrowed money, and as the compensation paid for the use or forbearance of money.  No deduction is allowed for personal interest per Section 163(h)(1), which is defined in Section 163(h)(2).  The most important deductible interest is home mortgage interest and it is defined in Section 163(h)(3) and it only applies to a qualified residence defined in Section 163(h)(4).  There are two types of deductible home mortgage interest:  Home acquisition indebtedness per Section 163(h)(3)(B) and home equity indebtedness per Section 163(h)(3)(C).

B. Home Acquisition Indebtedness elements:

1. Cannot exceed $1M

2. Must be secured by the residence

3. Incurred in acquiring, constructing, or substantially improving any qualified residence of the taxpayer.

C. Home Equity Indebtedness elements:

1. It is not home acquisition indebtedness

2. Must be secured by the residence

3. Cannot exceed the FMV of the residence when combined with the home acquisition indebtedness

4. Cannot exceed $100,000.

D. As a general rule under Section 163, interest is deductible 

E. Problems on pages 490-491

1. Problem 3(a), Section 163(h)(2)(D) covers qualified residence interest as defined in Section 163(h)(3) and a qualified residence is defined in Section 163(h)(4)(A).  Home acquisition indebtedness is better to have because of the higher limitation of $1M vs. $100K for home equity indebtedness..

a) First determine if the residence is a qualified residence

b) The loan must be secured by the residence

c) Then determine if it is home acquisition or home equity indebtedness and if it is it is qualified residence per Section 163(h)(3) and then it is not subject to Section 163(h) and it deductible per Section 163(a).

2. Problem 3(b) – if the proceeds of the loan are to substantially improve the home then it will be considered home acquisition indebtedness.

3. Problem 3(c) – using proceeds to buy a Ferarri can be home equity indebtedness as long as you do not exceed the equity in the house.  You can question whether this is good policy to allow taxpayers to have deductible interest on what is essentially a car loan.  If the market is tanking like it is now, it is good to get home equity loans because you can’t make as much in the stock market and you can get a tax deduction also.  It is good policy to encourage home buying.

4. Problem 3(d) – refinancing an acquisition indebtedness will still qualify as acquisition indebtedness

5. Problem 3(e)

6. Problem 3(f), prior to 1987, all mortgage indebtedness was home acquisition indebtedness and if you refinance it will be subject to the $1M limitation and will be used against your limitation after 1987 if you purchase a new home.

7. Problem 4(a) deals with Interest on Education Loans per Section 221, with education loan being defined in Section 221(e)(1).  The amount that can be deducted in 2001 or thereafter is $2,500 (as defined in Section 221(b)(1)) and it is limited or reduced per Section 221(b)(2)(B).  The amount the interest deduction is reduced is MAGI less $40K divided by $15K.  As long as taxpayer makes $40K or less, his interest deduction will not be reduced (it is $60K in the case of a joint return).  His deduction is $1,500 with $40K income in 1999.

8. Problem 4(b) –single and MAGI is $50K and so the reduction is $1000 and the amount that is deductible is $500.

9. Problem 4(c). Per Section 221(b)(2)(A) cannot be reduced to below $0.  The married couple having $80,000 will have a $0 deduction.

10. Problem 4(d) – interest payments are not deductible because if you pay them before graduated because the payments are not required, but professor says he would deduct it because it meets Congressional intent.

11. Problem 4(e) – the interest payment will be tolled when taxpayer goes back to school to get the LLM

12. Problem 4(f) – Since MAGI is $80K, there is no educational loan interest deduction for a married couple.  

F. Deductibility of Taxes

1. Cramer v. Commissioner.  Taxpayer was not allowed a tax deduction for property taxes paid on behalf of her mother because per Reg. 1.164-1(a), the taxes are only deductible by the person on whom the taxes are imposed.  Section 164(d) provided for the apportionment of the taxes between the seller and buyer of property.

2. Problems on page 495

3. Problem 1(a) – if the tax is not on the list it is not deductible; unless the tax is paid in carrying or a trade or business or for the production of income per the flush language of Section 164

4. Problem 1(b) – property taxes are allocable between buyer and seller of property.

5. Problem 1(c) – state income tax is deductible per Section 164(a)(3).

6. Problem 1(d) – Federal income tax is nondeductible per Section 275(a)(1).

7. Problem 1(e) - A state gasoline tax is nondeductible unless paid to carry on a trade or business.

8. Problem 2(a) – if father pays taxes for son

9. Problem 2(b) – the son’s deductibility does not depend on whether or not it was a gift from the father

G. Problem 5 – assessments for something like sidewalks are not deductible as taxes per Section 164(c)(1).  It is a capital expenditure added to AB under Section 1016(a). 

XVIII. Chapter 18, Deductions for Individuals Only

A. Does Section 62 create or allow any deductions?  No, you have to find then somewhere.  AGI tries to even out things between employees and self-employed persons.  Section 62 is for individuals only.  Above the line deduction are better because it is used to calculate floors and ceilings throughout the tax law.

B. Below the line deductions are found is Section 63(d)

C. Uniform is deductible per Section 162(a) as an expense required for carrying 

D. We start analysis for an expense/potential deduction by looking for a deduction section, them look for limitations, t hen look for above the line or below the line in Section 62 or 63 and then look for Section 67 for miscellaneous or itemized deduction and Section 68 for overall limitation on itemized deductions and them compare it to standard deduction.

E. Problems on pages 534-535

1. Problem 1(a) – Police uniform is deductible per Section 162(a) and is below the line per Section 63 and it an miscellaneous itemized deduction per Section 67

2. Problem 1(b) is deductible per Section and it is the line per Section

3. Problem 1(c) – the reimbursement from employer must be above the line before the wash features will kick in under Reg. 1.162-17(b)(1).  Is deductible per Section and it is the line per Section

4. Problem 1(d) – the employer gets the entertainment deduction 

5. Problem 1(e) – the $500 for refresher course is deductible per Section 162(a) and Reg. 1.162-5 and there are no limitations in part IX and they are below the line because they were paid by the employee and they will be a miscellaneous itemized deduction per Section 67 and if it is not listed it is an itemized deduction.  KNOW THIS STEP-BY-STEP analysis for EXAM

6. Problem 1(f) Is deductible per Section and it is the line per Section

7. Problem 1(g) Is deductible per Section and it is the line per Section

8. Problem 1(h) Is deductible per Section and it is the line per Section

9. Problem 1(i) Is deductible per Section and it is the line per Section

10. Problem 1(j) Is deductible per Section and it is the line per Section

11. Problem 1(k) Is deductible per Section and it is the line per Section

12. Problem 1(l) Is deductible per Section and it is the line per Section

13. Problem 1(m) Is deductible per Section and it is the line per Section

F. Before you get to Section 62, you must go through Section 1211 and 1222.

G. FOR EXAM – YOU MUST FIND A THREE DIGIT SECTION THAT SAYS “YOU SHALL HAVE A DEDUCTION” BEFORE YOU MOVE TO THE TWO-DIGIT SECTIONS SUCH AS SECTION 62 OR 67 FOR ABOVE OR BELOW THE LINE

H. For moving expenses deduction under Section 217 you must meet the requirements and calculate the amount:

1. The “moving” expenses must be paid or incurred in the taxable year

2. In connection with the commencement of work (you do not have to be carrying on a trade or business)

3. The requirements

a) Time requirement are found in Section 217(c)(2).  If self-employed you must be employed at the new location for 78 weeks within the next two years and per Section 217(c)(2)(B) and 39 weeks within 1 year for an employee per Section (c)(2)(A).

b) The distance requirement is found in Section 217(c)(1).  It does not matter where t he new residence it, it could be next door to your former residence and as long as your new place of work is 50 miles farther from the former residence this will be allowed as a deduction.

4. The types of expenses allowed under Section 217(b)(1) – moving the household effects and traveling to new residence 

5. The circumstances that will toll the time period are in Section 217(d)(1) – death, disability, or involuntary separation from the employment

6. Section 217(f) defines self employed individuals

7. If the payment was made in year 1 and reimburse in Year 2, can they exclude per Section 132(a)(6) per 132(g).  NO.

I. Problems on Page 539 dealing with moving expenses and Section 217

1. Problem 1(a)

2. Problem 1(b)

3. Problem 1(c)

4. Problem 1(d)

5. Problem 1(e)

6. Problem 1(f)

7. Problem 1(g)

8. Problem 1(h) 

J. Medical expenses deduction per Section 213 is a purely personal expenditure and the rational is that it is for extraordinary expenses (as required by the 7.5% floor) and it can also be viewed as a “repair” as opposed to a capital expenditure which is not deductible 

1. Medical care is defined in Section 213(d)(1)

2. There are two limitation on the medical expenses deduction 

a) A floor of 7.5% of AGI which all your medical expenses must exceed

b) It cannot be compensated by insurance

K. Ramon Gerard on page 540.  The taxpayer purchased central air conditioning for $1,300 that increased the value of home by $800 as required for his daughter with cystic fibrosis.  This is a capital expenditure per Section 263.  The $800 can be added to the basis of the house per Section 1016(a) and $500 is allowed as a medical deduction.

L. The circuit courts (6th0 allow meals for traveling to and from medical facility and the tax court does not allow it (per the Montgomery case).  Under the Golson rule the tax court will follow whatever circuit the court will go up to.

M. Problem on page 551

1. Problem 1(a) – the expenses are being made for the 20 year old and if she is a dependent the expenses will qualify as medical expense deduction.  Reg. 1.213(1)(e)(iii) and the medicine is covered under Sections 213(b) and 213(d)(3), and the doctor bills are deductible per Sections 213(a) and 213(d)(1)(A), and the insurance Sections 213(a) NS 213(d)(1)(D)

2. Problem 1(b) you cannot expense over the life of the central air conditioner because it is the home that was improved and it is a capital asset.

3. Problem 1(c) – the electricity and maintenance would be a deductible medical expense.

4. Problem 2 – if taxpayer gets sick while on business travel and has to stay longer in his hotel room, the expenses will be deductible per as a business expense under Section 162.  Note the Section 274(n) limitation on meals also applies to meals that are deductible for the medical expense deduction.

5. Problem 3. The service does not allow a taxpayer to pre-pay medical expenses and then deduct those expenses in the year they are pre-paid.  If an amount is paid for a lifetime contract with a retirement home, the amount associated with the medical care that will be given is deductible in the current year because it is considered a payment of insurance.

N. Personal Exemptions found in Section 151.  The exemption amount is $2,000 per Section 151(d)(1).  Section 151(d)(2) provides for those situations where the exemption cannot be taken.  Allowable means you can only take it on that return, not on another return.  Section 151(b) provides for a PE for the taxpayer and spouse if they file a SEPARATE RETURN. Section 151(a) is your code authority of taking a PE for yourself and spouse because it deals individuals (see also Reg. 1.151-1b).  Section 151(c)(1) provides for the dependency exemption.  Section 151(c)(1)(a) says the dependents 

O. Section 152(a) gives the requirement for dependency- support (must provide over half the support) and the relationship test per Section 152(a)(1-9) and also the gross income test under Section 151(c)(1).  Can a spouse be a dependent under Section 152? No,

P. Problems on pages 555-557

1. Problem 1(a) – T could get 1 exemption under Section 151(a0 but 2 exemptions per Section 151(b) the interest on tax exempt bonds  is excludable per Section 103 

2. Problem 1(b)

3. Problem 1(c)

4. Problem 1(d)

5. Problem 1(e)

6. Problem 2(a)

7. Problem 2(b)

8. Problem 2(c)

9. Problem 2(d)

10. Problem 2(e)

11. Problem 2(f)

12. Problem 2(h)

13. Problem 2(i) The scholarship is  not included in X’s gross income per Section 117.

14. Problem (3) deals with multiple support agreements in Section 152(c)

15. Problem 4(a)

16. Problem 4(b)

17. Problem 4(c) deals with legal custody not physical custody so it is the same result as problem 1(a)

Q. Section 63(b)(1) provides for the standard deduction. To know the basic standard deduction you need to know the filing status.  Section 63(f) provides for the additional standard deduction and the maximum amount of additional standard deduction you can get is $1,500 (if you are blind, aged, and single).  Section 63(c)(6) provides for certain individuals not eligible for the standard deduction

R. Problems on pages 160

1. Problem 1(a), interest is deductible per Section 16w, taxes are deductible per Section 164 and tax prep are deductible under Section 212(3) and the bar dues and unreimbursed business travel is deductible per Section 162.  After determining deductibility, you go the Section 67 and interest ($1,000) and taxes  ($500) are not miscellaneous itemized deductions and the tax prep ($200), bar dues (300), and business travel ($1,500) are miscellaneous itemized deductions and subject to the 4% floor of $400 so you would have $1,600 of miscellaneous itemized deductions for a total itemized deductions of $3,100 and taxpayer would Elect to itemize under Section 63(a).  The basic standard deduction is found in 63(c)(2)(C).

2. Problem 2(a) – T cannot take the personal exemption or the full standard deduction because some one else can claim him as a dependent. 

3. Problem 2(b) $4,000 –1,250

4. Problem 2(c) T will get the $3,000 standard deduction.

5. Problem 2(d) it makes not difference because it is allowable not allowed.

6. Problem 3 – only the medical deductions are deductible, but Z will not be able to take it because X claimed father as dependent

XIX. Chapter 21 Capital Gains and Losses

A. Characterization.  We have completed our income and deduction sections.  All we have left is characterization, the rate, and calculating tax liability.  There are two types of income in the code – ordinary as defined in Section 64 and Capital income.  This distinction is because capital income is taxed at a different rate.  The rates are found in Section 1, the highest rate is 39.6% (lowered to 39.1% in 2000) and you go to Section 1(h) to get the rates on capital gains and the highest rate is 28% to encourage investment,  you tend to reinvest in other capital gains property when you sell capital gains property and we should have tax neutral positions that don’t make you behave one way or another (i.e., keep something rather than selling because of tax consequences), the gain has been realized over years and the gain may be due to inflation, so you should be taxed at a lower.  The capital gains preference favors the rich and it is complicated, so for simplification could be another reason to do away with capital gains preference.  It would be too complicated to index taxpayers’ capital gains to inflation.  It is called a CAPITAL GAINS PREFERENCE.

B. Review – purchase something for $10K and a $5K non-recourse note and later sell it for $20K.  The AB of t he property is $15K per Section 1012 and the non-recourse loan is included per Crane.  Section 1001(a) deals with the gain realized and you need the AB and AR to calculate gains.  The AR is $20K less the $15K AB and the gain is $5k realized and recognized per Section 1001(c).  Between realizing and recognition you must characterize before including in income.  For losses you must first go to Section 165(c) to determine if the loss is deductible.

C. Capital gains and losses are defined in Section  1222 (11 different definition).  The difference between STCG and LTCG is the holding period and the dividing line is 1 year and if it is one year or less it is STCG

D. To have a capital gain or loss you must have

1. Sell or exchange (which is a more restrictive term that sale or other disposition that is needed for AR in Section 1001)

2. Capital Asset as defined in Section 1221

3. A holding period 

a) If you don’t meet these three elements it will 

E. 1222(1-4) you are classifying or identifying you gains/losses as either short term or long term 

F. 1222 (5-8) you are netting the shorts and longs together

G. After netting, in 1222(5-8), you will cross net.  If you have greater Net LTCG (Section 1222-7) than Net STCL (Section 1222-6) you will get Net capital gains per Section 1222(11) and this is the entry fee into Section 1(h)  

H. Homework – Read 1222 very carefully (1-4)(5-8) and 9, 10, 11.  Define terms first under 7,6,5,4,3 and then go to Section 1h(1)

I. Problems on Pages 673-674

1. Problem 1(a).T has $53.5k of gross income without considering capital gains.  Both the gains would be LTCG per Section 1222(3).  The Net LTCG is $35K per Section 1222(7) and the Net CG is also $35K because you do not have any STCL.  Per the problem the taxable income $88.5K (ignore SD/ID and P/E).  The answer to problem a is $35K. Must then classify the different types to capital gains.  In this problem we have gain from collectibles and gain from stock.  Collectible gain/loss is defined in 1(h)(6) and will be taxed at 28%

2. Problem 1(b). If you have a net capital gain the tax imposed by “this section” (Section 1) shall not exceed the sum of 1(h)(1)(A), 1(h)(1)(B), and 1(h)(1)(C).  If 1(h) had not been enacted the taxpayer would just go to Section 1(c) which is what Section 1(h)(1)(A) tells you to do.  

a) Section 1(h)(1)(A)(i) says the greater of TI reduced by Net CG ($88.5K less 35K = $53.5K).  Section 1(h)(1)(A)(ii) is the lesser of I - the amount of TI at a rated below 28% or $22,100 (for single taxpayer) II – TI reduced by adjusted net gain ($88.5 less $20K = $68.5K.  The lesser of I or II is $22.1 and the greater or $22.1K or $53.5K and find the tax on $53.5K is $12,107.  Adjusted net capital gain per 1(h)(4) is Net CG  reduced by the sum of unrecaptured Section 1250 and 28% gain.

b) Section 1(h)(1)(B) – 10% of so much of the adjusted net capital per h4.  The result of 1(h)(1)(B) is Zero.  MUST REVIEW

c) Section 1(h)(1)(C).  Taxing $20k at 20% for $4,000

d) Section  1(h)(1)(D) – zero because we have unrecaptured Section 1250.

e) Section 1(h)(1)(E) taxes the collectible at 28% (it is the only thing left to tax).

f) Once you classify in Section 1222, go to Sections (1)h 7,6,5,4 and then to section 1(h)(1).

3. Problem 2

a) Problem 2(a)

(1) First identify the gains/losses per Section 1222 and you have a LTCG of $5K from stock and $5K from and LTCL from a collectible of ($5K). So there is net LTCL of $5K per Section 

(2) Then you net

(3) Then you cross net

(4) You have a net capital gain of $5,000, because you do not have any net short term capital gain

(5) Then you go to Section 1(h)

(6) 28% rate gain is $0 per Section 1(h)(5) (collectible gain is defined in Section 1(h)(6)

(7) You have the $5K of stock taxed at 20% per

b) Problem 2(b) instead of having a LTCL from the collectible, it is at STCL of ($5K) and you have a NET LTCG of $10.  The net STCL is $5K.  NET  Capital Gain is $5K.  So the net result is the same, but what about the tax.  The LTCL from collectible is reduced by any losses from collectible gains or the net short term capital loss per Section 1(h)(5)(B)(I and iii). This shows that YOU CAN USE ANY LOSSES FIRST AGAINST THE 28% ITEMS

4. In Section 1222, the gains are odd and the losses are even.

5. Problem 3 on page 674

a) STCG is $10K

b) LTCG (COLL) 15K

c) LTCG is $20K

d) NET LTCG is $35K

e) Go to Section 1(h) because you have a capital gain and you go in order of Section 1(h) 7,6,5,4 and 1

f) The 28% rate gain is $15K per Section 1(h)(5)

g) Then get the adjusted net capital gain per Section 1(h)( 4) which is $20K (net capital gain reduced by unrecaptured Section 1250 and 20$ gain or $35K minus $15K)

h) Then go to Section 1(h)(1)(A)

(1) 1h1A is the GREATER of (i) gross income of $45K reduced by the net capital gain of $35K or $10K AND 

(2) the LESSER  of the amount of taxable income at a rate below 28% or $22.1K and TI reduced by adjusted net capital gain of $20K or $25K ($45K less $20K) and

(3) The greater of the $10K or $22.1K is 1(h)(1)(A) is taxed at $3,315

(4) You have $0 under Section 1(h)(1)(B)

(5) You have $4K tax o n $20K per Section 1(h)(1)(C)

(6) You have $0 under Section 1(h)(1)(D)

(7) In section 1(h)(1)(E) you are taxed $812

(8) Then add all the amounts per Section 1(h)(1) “the sum of” for an amount of $8,127.

J. The mechanics of capital losses.  There are restrictions on capital losses in Section 1211 because it is like having a tax shelter.  You can keep your winners and then when you die you won’t have a gain but you can time your losses to reduce income. 

K. You need to go through realization, recognition, and deductibility in Section 165(a and c).

L. You do section 1222 before doing Section 1211, is the Limitation on capital losses.  Can take capital losses to the extent of gains.  The maximum of losses you can take are the amount of capital gains plus $3,000.  If you have excess losses you go to Section 1212(b) for carryovers.  This is limited to individuals and it is for net capital losses per Section 1222(10).  If you  have a capital loss you must use Section 1212(b) in order to characterize them for the next year.

M. Short cut method or check for Section 1212.  First add your net ST/LT capital gains and losses.  Then reduce that amount by you Section 1211(b)(1)or (2) amount using STCL first and the remainder is carried over  

N. Per Section 1222(2) – STCL says the loss must be used to compute TI

O. Problem on page 679 

1. It does not matter if it is collectible loss or not for carryove purposes. TI is $10K.  We have already realized and recognized the losses and determined that they are deductible.  The gains and losses have already been identified and must now net.  You have net LTCL of $4K per Section  1222(8) and a net STCG of $1,600.  We have a net capital gain of $0 so we don’t go to Section 1(h) instead we go to Section 1211 to be able to deduct these losses.  You can take your losses up to the amount of gains per Section 1211 (intro language) or $4,600 and the lesser of $3,000 or the amount ix  excess of gain and the amount deductible is $7K.  We do not have a net capital loss is $0 because it is the amount of CL less the amount deducted under Section  1211. 

2. Section 1211(b) intro language allows you to take $4.6K 9 (losses to the extent of gains) and Section 1211(b)(1) or (2) allows you to take $2.4K for a total $7K.  Section 1211 only tells you how much of your is deductible.  Salary of $10K and gain of $4.6K and deductible losses of $7.6k or you can just deduct the net loss from salary of 

3. Section 1222(10) you have $7K less $7K = $0 so no net capital loss and you don’t have to go to Section 1212 for carryover

4. Short cut – add the nets for a total $2,400 and then you subtract the Section 1211(b)(1 or 2) which is $2,400 using the short term first and then apply to long term and which is also $0.

5. Net short term capital gains of $4K under Section 1212(b) and it is only use to determine the carryover and adding STCG

6. We figured it out 3 ways that we did not have a capital loss (know all three ways)

P. The meaning of  “capital asset.”  In order to have a capital gain/loss you must have a sale or exchange of a capital asset and a holding period (as defined in Section 1221, it can be intangible, personal, and real property).  Your car is a capital asset unless it is part of your inventory of car.  Section 1221(a)(1) is for people who have inventory and sells to customers and Section 1221(a)(2) says that depreciable property used in trade or business or real property used in trade or business are not capital assets.  Section 1236 protects a broker for his own personal investments.  A piece of land is a capital asset until he starts dividing the property into lots per Mauldin case.

Q. The Mauldin case said that the sale of lots was property held for sale to customers (Section 1221(a)(1) and was therefore ordinary income.  The court used factors to determine it was not capital gains:

1. GET FROM THE CASE

R. Malat, the property was held to be for sale to customers and the Supreme Court had to interpret “primarily” and the Supreme Court held that it had to be of first importance rather than the Service’s interpretation of “substantially.”  An apartment building is not a capital asset per Section 1221(a)(2).

S. Hort v. Commssioner case on page 689.  The taxpayer received $140K for the liquidation of the lease and he treated $21K as a loss (the difference between what he was to receive and what he actually received).  The adjusted basis in the rental contract was $0 so he could not have a loss.  So taxpayer said if you are going to treat the $140k as a gain have it be capital rather than ordinary income.  The Service said it is just ordinary income – substitute rental payments (payment received in lieu of rent payments he would have received in the future).

T. Metropolitan Building case on page 691.  The university of Washington leased to Metropolitan Building who in turn subleased to Olympic.  Olympic agreed to pay off Metropolitan Building so that the university of Washington could lease directly to Olympic.  The only issue in this case CHARACTERIZATION.  Sine Metropolitan gave up all their property interest it was considered a sale or exchange of a capital asset and a capital asset.  As long as there is a co-terminus of the interest it will be capital gains.  If the taxpayer has an interest before or after the disposition it will be ordinary income (not giving up the underlying property interest.  In Stranahan if t he son sold his rights to the dividends it would be ordinary income. 

U. Problems on page 697.

1. Problem 1 is ordinary income

2. Selling the right to dividend payments is capital

3. Problem 3(a) is ordinary income

4. Problem 3(b) is ordinary income

5. Problem 3(c) is capital because T no longer has an interest

6. Problem 3(d) is a co-terminus (means part of asset is terminating) assignment and is capital gain per Metropolitan

7. Problem 3(e) is ordinary income

8. Problem 4 (a) is long term capital gain

9. Problem 4(b) is just like problem 3(d) and the quarter is capital gain.

10. Reg 1.161-6 says that you can parcel out the land or asset, unless it get to where you parcel out for the sale to persons

V. Corn Products Refining Co. v. Commissioner.  Their operation was very susceptible to the price of corn so they bought corn futures.  What are futures? In the future I will buy your corn for $10/bushel and if the price goes up to $15/bushel you will exercise the futures contract but if the price of corn goes down to $8 you will not exercise the futures contract.  Since it wasn’t listed 

W. Integral part of the business designed to protect the manufacturing operations and Corn products basically became Section 1221(6).  Was this a big one for the service?  NO, because it allowed people to take ordinary losses not limited to the amount of capital gains because it is considered ordinary income.  Today Section 1221(a)(7) says any hedging transaction is not a capital asset.  Then Arkansas Best limited Corn Products to being associated with inventory for sale to customers

X. Normally futures are treated as property (options contracts)

Y. Problem on Page 709.  Under Section 1221(b)(2)(A) it is not a hedging transaction.  You have $200K AB and $150 AR and $50K loss realized and recognized.  Before characterizing, you have to determine if it is deductible per Section 165 and it is.  

Z. Reg1.1001-1(a) says a sale is disposing of property for cash or cash equivalents and an exchange is a swap

AA. Decedent leaves Whiteacre to A in trust to be given to A when he turns 40.  If the land is worth $50k at the time the trust is created and then worth $300K when A turned 40 there is no taxable event because it is a specific bequest. 

AB. Kenan v. Commissioner on page 710 – the trust could pay out the $5M in a combination of cash and securities and it was determined to be a taxable event because it was a sale or exchange because it was a general bequest and it was a capital gain to the trust.

AC. Galvin Hudson on page 714.  The judgment ceased to exist when it was paid so it is not sale or exchange.  Amazon.com liquidates and your payment will be ordinary income except for Section 331 that says a liquidation

AD. Section 1241 provides the requirement of a sale or exchange of a lease

AE. For debtor there is a sale or exchange and it will be capital gain.  For creditor is covered under Section 1271, retirement or sale of debt instruments.

AF. If a capital asset is held for exactly one year it is short term capital gain per Section 1222(1) which says STCL is gain from the sale or exchange of a capital asset held for not more than 1 year.  If you buy an asset on 12/31/01, the holding period begins on 1/1/02 (per Revenue Ruling 66-7 and 66-97) and for it to be a LTCG you would have to hold it until 1/1/02.

AG. Problems on page 534-535

1. Problem 1(a) – it is property (stock) and it is not #1-8 so it is a capital asset, now need to determine t he holding period 

2. Problem 1(b) – the revenue ruling on the purchase date being the first day of the next month only applies to leap years, and so it is STCG.

3. Problem 1(c) – use FIFO per Reg. 1.1223-1(i) and

4. Problem 1(d) trade date is December 29 and sold on December 30 the next year and you have $1,000 LTCG

5. Problem 1(e) after realizing, recognizing, you must go to Section 165 to determine if it is deductible before characterizing and it is deductible per Section 165(c)(2) and it is a LTCL and the holding period began on 12/30/98

6. Problem 1(f) – the general rule for the basis of a gift is the donor’s basis.  Section 102 says GI does not include property received by gift or devise.  AR is $6K and $3K basis and the $3K gain is recognized under Section 1001(c) and it is a capital asset per Section 1221(a) and it is not #1-8 and it is property.  What is the HP?  Taxpayer sold it within 9 months.  It is LTCG because the holding period follows the basis per Section 1223(20 it is a tacking provision that tacks on the donors HP to the donee’s HP.  This also applies transfers between spouses per Section 1041.  Section 1223(1) applies to property exchanged and the basis must be the same as the property given up (Section 1031, like kind exchange and 351).

7. Problem 1(g) – taxpayer received the stock from his father’s estate on 1/5/99 and he sold it on 1/15/99.  He gets the Section 1014 stepped up basis and GRANTS LTCG per Section 1223(11) which provides for LTCG for property received for property received under Section 1014 (even if the decedent did not hold it for over one year)

8. Problem 1(h) – the result is the same as 1(g) above.

XX. Chapter 22 deals with re-characterization sections.  Thing that would have been capital gain and are re-characterized as ordinary gain or vice versa (Sections 1231, 1245, and 1250)

A. Section 1221(a)(2) prevents property that is used in trade or business from being a capital loss.  In 1938 it was to encourage businesses to sell off the assets and would allow them ordinary loss.  In 1942, the assets were not being sold (lots of assets being destroyed) because it would get ordinary gain treatment and so Congress enacted Section 1231.  Property denied under Section 1222(a)(2) get capital treatment under Section 1231.  Remember Section 1231 is good for the taxpayer.  Section 1231 gains and losses are defined in Section 1231(a)(3)(A)(i).  Gains recognized on the sale or exchange of property used in trade or business.  NOTE: would not apply to exchanges between spouses because it is not RECOGNIZED per Section 1041.

B. Section 1231(a)(4)(C) – says it is for involuntary conversions.  However, Section 1231(a)(3)(A)(ii) covers compulsory and also covers transactions entered into for profit, in 1231(a)(3)(A)(ii)(II), but only if it is from compulsory or involuntary covnverions.

C. For 1231, you need to know the type of property (the same as 165(c)(2) and the type of event).  The one thing that 1231 never adds is the HP.  Section 1231 can change something that was not a capital asset into a capital asset and it can also provide the sale or exchange requirement, but not the holding period.  You use Section 

D. Figure out if you have a 1231 gain or loss under Section 1231(a) and it must be either property used in trade or business or property for the production of income if it is involuntary or compulsory converted  

E. Special rules for losses are in Section 1231(a)(4)(A)(ii) – apply 1231 before Section 1211.

F. If you are in Section 1231(a)(4)(c) and the losses exceed the gains then the Section 1231 will not be allowed and it will be ordinary losses which is good Section 1231(a)(4)(c) is a Tier 1 or sub hotchpot and Sections 1231(a)(2 and 3) are the main hotchpot.

G. Section 1231 (c) deals with the recapture of net ordinary losses.

H. Problems on pages 747-748

1. Problem 1(a) – he sold land for $20K that had an AB of $10K for a gain of $10K.  This is land is not a capital asset because even though it is property, it is used in a trade or business which does not meet the Section 1221 definition of a capital asset.  However, it is Section 1231 gain because it meets the definition under Section 1231(b)(1).  The leased land would be a capital loss (assuming it is not used in a trade or business), it is NOT a LTCL under Section 1224 because you do not have a sale or exchange (condemnation is a compulsory conversion).  It is not a property used in a trade or business per Section 1231(b)(1).  Is this a Section 1231 loss?  Yes, under Section 1231(a)(3)(A)(ii)(II) and we have a Section 1231 loss of $2,000.  The 1231 gains of $10K are greater than the $2K of 1231 losses so you will consider them long term capital gains and losses.  SECTION 1231 IS NOT A NETTING SECTION, so you then go to Section 1222 and you have a net LTCG under Section 1222(7) and a net capital gain under Section 1222(11) which then kick us to Section 1(h).

2. Problem 1(b) – AR on business land is $20K and the AB is $16K per Section 1014, because he inherited it and it was excluded per Section 102(a) and so there is now a gain of $4K on the sale of the property.  On the condemned land the AR is $16K and you have an AB and there is a $2K loss and it is deductible per the analysis in 1(a).  However, Hotchpot has only held the land for 3 months yet he will ge granted long term treatment and it will be treated as being held for more than one year.  So you have $4K LTCG and $2K LTCL per Section 1231(a)(1).  This problem shows you that you have to have a holding period over one year either actually or constructively per Section 1223(11). 

3. Problem 1(c).  There is a $10K gain realized and recognized (AR of $15K and AB of $5K).  It is not a capital asset per Section  1221(a)(2) because it was used in a trade or business.  The car had AR o f $4K and an AR is $4K for a loss of $2K and it is deductible per Section 165(b) which says the amount o f deduction is the AB per Section 1011.  So the $2K loss is deductible under Section 165(a).  Is the $10K gain on the land Section 1231 gain – yes, per 1231(a)(A)(i).  Is the $2K loss from the involuntary conversion of the car a Section 1231 loss?

a) Tier 1 is found in Section 1231(a)(4)(c)- the involuntarily converted car fall here and makes Section 1231(a) inapplicable and it will be ordinary loss which is better because there is no loss limitation per Section 1211.

b) Tier 2 – building at $10K

4. Problem 1(d) – whether the painting is a capital asset depends upon whether it is a capital asset and whether or not it is depreciable.  If it is not depreciable (not subject to wear asset), it would be a capital asset.  HOWEVER, it is not a capital asset because there is no sale or exchange.  The painting is a Section 1231 gain and it is Tier 1 and now the Tier 1 Section 1231(a)(4(c) now has gains exceeding losses so that gain moves into the main hotchpot under Section 1231(a) and you have $14K of Section 1231 gains which exceed Section 1231 losses and they are considered long term capital gains and losses and then you proceed with netting under Section 1222.

5. Problem 1(e) – the land transaction has a $20K loss under Section 1231(a) and it is Tier 1 and is in the main hotchpot and now Section 1231 has more  losses than gains and both are considered ordinary income per Section 1231(a)(2)

6. Problem 1(f) – if the land was considered investment then the $20K would be LTCL and there would only be $2K of Section 1231 loss. The amount of deductible loss in the current year would be $17K per Section 1211(?) which is the amount of loss required to wipe out the $14K of gains and an additional $3K.  Since you have total losses of $22K and $17K was deductible in the current year, the taxpayer will have a $5K carryover.  Another approach is to determine the net LTCL   which is $8K ($22K of loss less $14K of gain) and then deduct the $3k that  is allowed per the code in Section 1212(b)(2)(A) which results in a $5K carryover.  READ Section 1212(b)(1)(B).

7. Problem 1(g) – the result from (d) is $14K of Section 1231 gains and $2k of Section 1231 losses.  The net Section 1231 gain per section 1231(c)(3) is $12K and the net Section 1231 losses per Section 1231(c) is $8K and the $12K does not exceed $8k by $8K and is ordinary income and is ordinary income per Section 1231(c)(1) and $4K is LTCG per section 1231(a)(1).  Always recapture the oldest losses first.

8. Problem 1(h).  What is the amount of the Section 1231(c)(2)(A)?  Aggregate amount is $14K , which is the aggregate amount of net Section 1231 losses for the 5 most recent years and there is no Section 1231(c)(2)(B).  Section 1231(c)(1) provides that all the $12K Section 1231 gain in the current year will be ordinary income and you will end up with $2K of Section 1231(c)(2)(B) in the next year ($14K less $12K).

9. Problem 1(i).  The (c)(2)(A) amount is $14K and the (c)(20(B) amount is $10K so you have net aggregate net loss of $4K and so of the $12K Net Section 1231 gain $4K will be ordinary income and $8K will be ltCG

10. Problem 3 is based on the McGowan case

11. Problem 3(a) the $8K gain from inventory is ordinary income per Section 1221(a)(1) and Section 1231(b)(1)(A).  Goodwill is a capital asset so you would have a $20K LTCG.  The sale of the land resulted in a loss of $10K and it is not a capital asset per Section 1221(a)(2) and it is a Section 1231 asset per Section 1231(b)(1).  The building is not a capital asset but it is a Section 1231 asset and you have a $5K gain and you have a $2K gain on the machinery & equipment and it is not a capital asset but it is a Section 1231 asset.  The covenant not to compete is ordinary income because it is considered a service.  You have the following Section 1231 amount $3K loss which will be considered an ordinary loss that is netted with the ordinary income from the inventory and not to compete covenant of $18K and then this $15K is added to the $20K LTCG from the goodwill so that gross income is $35K and Section 1(h) applies because you have LTCG.

12. Problem 3(b) – there will be $20K LTCG and $10 gain of ordinary gain from the not-to-compete agreement.

I. Problems on pages 759-762

1. Problem 1(a).  Recap equipment in 1992 for $100k and his AB is $0K (fully depreciated) and he sold it for $30K, AR.  There is no economic gain because he bought it for $100K and sold it for$30K.  So he has AR of $30K and AB of $0 so he has $30K gain realized and it is Section 1231(b) as property used in trade or business and it would be Section 1231 gain (if there was not section  1245) and it would have be LTCG.  The government did not want to allow you to re-characterize your deductions at a lower tax bracket (you get to take at the deductions at a higher tax rate and the gain is taxed at lower capital gains rates.  For Section 1245 to apply, you only have to DISPOSE of the property.  Revenue Ruling 69-487, if you move desk from your office to your home is it a disposition to trigger Section 1245?  No.  However, if Section 179 was used, it will trigger re-capture per Section 1799d)(10).  The re-computed basis.  The re-computed basis per Section 1245(a)(2) and per Section 1245(a) the lower of these two that exceeds the AB is ordinary income.  We have come full circle:  it was not a capital asset and subject to ordinary treatment, then Section 1231 would have made it a capital asset, and then section 1245 turns it back into ordinary income.

2. Problem 1(b) – per Section 1245,  \Section 179 will be treated as depreciation or amortization and there is no difference in result that $30k will be ordinary income

3. Problem 1(c) - $100K will be treated as ordinary income and $10K will be Section 1231 gain subject to capital gains treatment assuming that you (assuming that you have no other Section 1231 dispositions).  Section 1245 trumps everything per Section 1245(d).

4. Problem 1(d) – Recap did not take any depreciation (depreciation reduces basis per Section 1016(a)(2).  Per flush language of 1016(a)(2) flush language you will be considered to have taken SL depreciation and for five year property the AB will still be $0.  If he didn’t take depreciation, he will not have the benefit of the deduction and still had ordinary treatment and no economic. EXCEPT FOR Section 1245(2)(b), taxpayer may establish amount allowed and then the $30K will be treated as Section1231 gains because the amount allowed is less than the amount allowable.

5. Problem 1(e) – Recap also sells land that results in a $9K loss ($20 AB and $9K AR).  Section 1245 only applies to gains and this could be Section 1231 loss and you have gains of $10k and you will have ordinary gains and losses per Section 1231(a)(2), not subject to Section 1211

6. Problem 1(f)

7. Problem 1(g) – the property is disposed of between spouses, but Section 1245(b)(1) says a gift is not subject to 1245 treatment and Section 1041 says it is a gift  

J. RULE:  Any piece of property, tangible or intangible, that you could sell for a profit is a capital asset if it is not excluded in Section 1221(a)(1-8).

K. Section 1250, Gain from disposition of certain depreciable realty.  The last re-characterization section before  we go on to rates.  Section 1250(c) defines Section 1250 which is any depreciable property (buildings but not land because land is not depreciable because it does not suffer from exhaustion, wear, and tear).  The applicable percentage for us will always be 100%.  It is the lower of the additional depreciation as defined in Section 1250(b)(1) or the excess of the AR over the AB of the property shall be treated as ordinary income.  Additional depreciation – if you hold the property for less than one year, the entire depreciation will be considered ordinary income.  After 1986, the additional depreciation amount will be $0 because only SL is used after 1986.  So Section 1250 only applies if it is property acquired prior to 1986 or the property is held for one year or less

L. Problem 3 on page 763.  The land had an AB of $50K and an AR of $125K for a gain realized and recognized of $75k.  The land is not a capital asset per Section 1221(a)(2).  However, it is a Section 1231 gain because it is property used in a trade or business.  For the building the AR $150K and the AB is $17K for a gain realized and recognized and the building is not a capital asset per Section 1221(1)(2) because it is property used in a trade or business.  The $133K is Section 1250 property per Section 1250(c).  The additional depreciation is $4K because the amount of depreciation taken was $83K and there would have been $79K under the SL method so the $4K will be treated as ordinary income per Section 1250(a)(1)(A).  Is the property used in a trade or business, yes, so it is a Section 1231 gain and it will go to the main hotchpot under Section 1231.  The $129K remaining gain on the land is in the Seciton 1231 hotchpot. The $75K from the land and the $129K gain from the building for a total of $204K Net LTCG per Section 1222(7) and a net capital gain per Section 1222(11).  Gross Income/AGI/TI is $308($100K+$4K+$204K).  Now  you go to Section 1(h).  Find adjusted net capital gain per Section 1(h)(4) which is the net capital gain from Section 1222(11) reduced by unrecaptured section 1250 gain and 28% gain.  The unrecaptured Section 1250 gain is defined in Section 1(h)(7).  The entire depreciation was $83k and the amount of ordinary income was $4k so the unrecapured Section 1250 gain is $79k and then that is deducted form net capital gain of $204K to get adjusted net income per Section 1(h)(4) of $125K.

1. Tax computed on the TI reduced by net capital gains ($308K less $204K for $104k for 1(h)(1)(A)(i) and (ii) is the lesser of (I) $22.1Kor (iI) 308k less $125k or $183K which will be $22.1K and then compared to the $104K in 1(h)(1)(A)(i), which will be to find the tax on $104 K for Section 1(h)(1)(A) or $27,762

2. 1(h)(1)

3. (A) = $27,762 tax (on $104k)

4. (B)$0 – will never have this unless you use 1(h)(1)(A)(ii)(I)

5. (C) = $25K on ($125K)

6. (D) = $19,750

7. (E) = $0

8. The total tax is $72, 512

M.     YOU HAVE TO SPLIT THIS ASSET UP AN ANALYZE THE LAND AND BUILDING SEPARATELY.

XXI. Computations, Chapter 27

A. Classification of taxpayers and rates.

1. This year the top rate was reduced to 39.1%

2. Section 1(d) is for married individuals filing separate returns.  This used to be the only table and in 1930 the Supreme Court said that married couples could split their incomes and used the table separately.  You would rather be taxed at $100K twice at a marginal rate of 36% and or $200K at 39.6% and you get second run at the brackets.  This made states consider going to community property.  This made Congress develop the married filing joint tables which still let you go up the brackets but the downside is joint and several liability.

3. Surviving spouses are subject to married filing joint rates and the death must have occurred within the last 2 years and there must be dependent children

4. Head of household is has rates between 1(a) and 1(d) is only requires a dependent, who does not have to be your child

5. Seciton 1(c) created the marriage penalty.  To get progressivity and treat everybody equally is virtually impossible.

B. In 1986 the base was made larger but the rates were reduced.

C. Problems on Page 936

1. Problem 1(a) – T is taxed as single taxpayer and the tax is $40,172.

2. Problem 1(b) – T got married so use Section 1(a) and get tax liability of 435, 928.50

3. Problem 1(c) – spouse died in current year and he can still file a joint return.  NOTE:  this is not surviving spouse.

4. problem 1(d) – this is surviving spouse because spouse died in prior taxable year

5. problem 1(e)

D. Congress is shrinking the base (as opposed to raising the taxes) in Section 151(d)(3).  Need to know the filing status to know the threshold amount under Seciton 151(d)(3)(C) and the applicable percentage is defined in Section 151(d)(3)(B).  The formula is AGI minus Threshold amount divided 2500 then multiplied by 2 (AGI-TA/2500)x2

E. Section 68 is done after Section 67 (the miscellaneous itemized deductions per Section 68(d).  We are only talking I/D per Section 63(d).  The Section 68 limitation only applies to below the line deductions.

F. Thursday the 29th will be a review at 2:00 p.m.  e-mail him to RSVP and he will respond with the room

G. Important for exam:  Section 1001(a) is to realize losses and Section 1001(c) is for recognition and we also have non-recognition sections such as Section 1041.  If you have a loss go to Section 165 to see if it is deductible.  If you have a gain go to Section 1221 to see if it is a capital asset and if it is not a capital asset you go to Section 1245 and Section 1250 which may result in ordinary income and the excess will go to Section 1231 that will then be netted and cross-netted under Section 1222 and if a gain it will go to 1(h) and if there is a loss you go from Section 1222 to Section 1211 and Section 1212.

H. The overview problem: sale of building and land.  Per Crane you include the amount of the assumed non-recourse is a part of the amount realized.  The building is Section 1250 property which is depreciable and subject to wear and tear.  Section 1250 will recharacterize $10K which is the additional depreciation 

I. Assume everything is GI and assume everything is non-deductible.  Section 62 does not allow any deductions, it just tells you where to put them (above or below the line)   
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